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          1                      P-R-O-C-E-E-D-I-N-G-S

          2             THE DEPUTY CLERK:  CIVIL ACTION 98-1232 AND

          3   98-1233, UNITED STATES OF AMERICA VERSUS MICROSOFT

          4   CORPORATION AND STATE OF NEW YORK, ET AL. VERSUS MICROSOFT

          5   CORPORATION.

          6             PHILLIP MALONE, STEVEN HOUCK AND DAVID BOIES FOR

          7   THE PLAINTIFF.

          8             JOHN WARDEN, STEVEN HOLLEY, RICHARD UROWSKY AND

          9   WILLIAM NEUKOM FOR THE DEFENDANTS.

         10             THE COURT:  COUNSEL, LET ME REMIND YOU THAT I

         11   STILL HAVE A JURY DELIBERATING UPSTAIRS, SO IT MAY BE

         12   NECESSARY TO SUSPEND THESE PROCEEDINGS FROM TIME TO TIME TO

         13   ATTEND TO THEIR NEEDS.

         14             MR. BOIES?

         15             MR. BOIES:  THANK YOU, YOUR HONOR.

         16             MR. BOIES:  YOUR HONOR, THE PLAINTIFFS CALL AS

         17   THEIR FIRST REBUTTAL WITNESS, PROFESSOR FISHER.

         18             THE COURT:  VERY WELL.

         19             HE HAS BEEN SWORN.

         20             (PROFESSOR FRANKLIN M. FISHER, GOVERNMENT'S

         21   WITNESS, PREVIOUSLY SWORN.)

         22             THE COURT:  GOOD MORNING, DR. FISHER.

         23             THE WITNESS:  GOOD MORNING, YOUR HONOR.

         24             THE COURT:  I WILL REMIND YOU, SIR, THAT YOU'RE

         25   STILL UNDER OATH.
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          1             THE WITNESS:  YES, SIR.

          2                        DIRECT EXAMINATION

          3   BY MR. BOIES:

          4   Q.  GOOD MORNING, PROFESSOR FISHER.

          5   A.  MR. BOIES.

          6   Q.  WELCOME BACK.

          7   A.  MR. BOIES, IT'S NICE TO BE HERE, SO FAR.

          8   Q.  WHEN YOU TESTIFIED BEFORE, DURING OUR DIRECT CASE, HAD

          9   YOU HAD AN OPPORTUNITY TO REVIEW DEAN SCHMALENSEE'S WRITTEN

         10   DIRECT TESTIMONY?

         11   A.  NO, I DIDN'T.  MY UNDERSTANDING IS THERE WAS AN

         12   AGREEMENT THAT I WAS NOT TO BE GIVEN THAT UNTIL I WAS

         13   FINISHED.

         14   Q.  SINCE YOUR TESTIMONY, HAVE YOU HAD AN OPPORTUNITY TO

         15   REVIEW DEAN SCHMALENSEE'S WRITTEN TESTIMONY, AS WELL AS HIS

         16   ACTUAL IN-COURT TESTIMONY?

         17   A.  YES, I HAVE.

         18   Q.  I AM GOING TO BEGIN BY ASKING YOU SOME QUESTIONS ABOUT

         19   CERTAIN OF THE ASSERTIONS THAT DEAN SCHMALENSEE MAKES.  BUT,

         20   FIRST, AS CONTEXTUAL BACKGROUND, YOU HAVE EXAMINED,

         21   GENERALLY SPEAKING, BOTH ISSUES OF MONOPOLY POWER AND

         22   ANTI-COMPETITIVE CONDUCT; IS THAT CORRECT?

         23   A.  YES, IT IS.

         24   Q.  AND I WANT TO BEGIN BY FOCUSING ON THE ISSUE OF MONOPOLY

         25   POWER.
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          1             IN THAT CONNECTION, WOULD YOU DESCRIBE JUST VERY

          2   BRIEFLY AND GENERALLY HOW YOU WENT ABOUT THAT ANALYSIS?

          3   A.  WELL, I BEGAN IN WHAT IS, IN EFFECT, THE STANDARD WAY.

          4   I BEGAN BY CONSIDERING THE MARKET -- THE DEFINITION OF THE

          5   MARKET IN WHICH MICROSOFT MIGHT HAVE MONOPOLY POWER.  THAT

          6   MEANT CONSIDERING THE VARIOUS THINGS THAT COULD OR DO

          7   CONSTRAIN MICROSOFT.

          8             I THEN LOOKED AT SUCH INDICATORS AS MICROSOFT'S

          9   SHARE, STABILITY OF THE SHARE.  I LOOKED AT THE FUNDAMENTAL

         10   QUESTION, WHICH WAS IS MICROSOFT, IN FACT, CONSTRAINED IN

         11   ITS PRICING BY -- WELL, TO WHAT EXTENT, IF ANY, IS IT

         12   CONSTRAINED BY VARIOUS THINGS.  THAT IS ACTUALLY THE

         13   TOUCHSTONE QUESTION OF MONOPOLY POWER.

         14             AND, AS YOU'VE TESTIFIED ON DIRECT, YOU REACHED A

         15   CONCLUSION THAT MICROSOFT DID, IN FACT, HAVE MONOPOLY POWER

         16   AS A RESULT OF THAT ANALYSIS?

         17   A.  OH, YES.

         18   Q.  NOW, FROM LOOKING AT DEAN SCHMALENSEE'S BOTH WRITTEN AND

         19   ORAL TESTIMONY, DID DEAN SCHMALENSEE APPROACH IT IN A

         20   SIMILARLY STANDARD WAY?

         21   A.  NO, HE DIDN'T.

         22   Q.  AND WHAT, FROM YOUR PERSPECTIVE, DID DEAN SCHMALENSEE DO

         23   RIGHT AND WHAT DID HE DO WRONG, IN GENERAL?

         24   A.  WELL, DEAN SCHMALENSEE BASICALLY REFUSED TO DEFINE ANY

         25   MARKET AT ALL BECAUSE HE FOUND THAT EITHER DIFFICULT OR
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          1   IMPOSSIBLE.  AND STEMMING FROM THAT, I THINK THERE ARE A

          2   WHOLE SERIES OF PROBLEMS LEADING TO -- HOW SHALL I PUT IT --

          3   LEADING TO A LACK OF SYSTEMATIC THINKING AND TO SOME MUDDLED

          4   RESULTS.

          5   Q.  LET ME ASK YOU TO LOOK AT A COUPLE OF SELECTIONS FROM

          6   DEAN SCHMALENSEE'S TESTIMONY.  AND I'D LIKE TO BEGIN BY

          7   ASKING YOU TO LOOK AT A SELECTION FROM JANUARY 13, THE

          8   AFTERNOON SESSION, AT PAGE 27, WHICH I BELIEVE I CAN PUT UP

          9   ON THE BOARD, AND WE HAVE -- AND AT LINES 13 THROUGH 18,

         10   THERE IS A QUESTION --

         11             THE COURT:  I'M SORRY.  WHAT PAGE ARE YOU ON?

         12             MR. BOIES:  PAGE 27 OF THE AFTERNOON SESSION ON

         13   THE 13TH.  AND AT LINE 13, DEAN SCHMALENSEE IS ASKED, "SO

         14   YOU DID NOT INVESTIGATE AND DID NOT FEEL A NEED TO

         15   INVESTIGATE WHETHER THERE WAS OR WAS NOT A P.C. OPERATING

         16   SYSTEM MARKET; IS THAT YOUR TESTIMONY?

         17             "ANSWER:  THAT'S MY TESTIMONY, THAT THAT MARKET IS

         18   NOT RELEVANT OR NECESSARY TO ANSWER THE QUESTIONS POSED."

         19   HE THEN SAYS, "MOST OF THE QUESTIONS POSED -- NO, THE

         20   QUESTIONS POSED, PERIOD."

         21             NOW, DO YOU AGREE WITH THAT TESTIMONY, PROFESSOR

         22   FISHER?

         23   A.  NO.  I CERTAINLY DON'T.  IT'S TRUE THAT THE QUESTION OF

         24   WHAT IS A RELEVANT MARKET IN THIS CASE, AND IN MOST CASES,

         25   IS NOT A QUESTION WITH VERY DEFINITIVE ANSWERS.  IT'S
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          1   POSSIBLE TO DISAGREE ON WHAT THE MARKET IS, BUT DEFINING A

          2   MARKET IS A WAY OF STARTING TO SUMMARIZE WHAT ARE THE THINGS

          3   YOU HAVE TO UNDERSTAND AND THE WAY THEY OPERATE --

          4   UNDERSTAND, IN A MONOPOLY CASE, THE CONSTRAINTS ON THE

          5   ALLEGED MONOPOLIST.

          6             AND IN THIS CASE, THE QUESTION OF WHETHER

          7   MICROSOFT HAS POWER -- MONOPOLY POWER IN P.C. OPERATING

          8   SYSTEMS IS A CRUCIAL QUESTION IN THIS CASE.  AND I THINK

          9   THAT THE REFUSAL TO DEFINE THAT MARKET IS A WAY OF GETTING

         10   MUDDLED WHEN ONE STARTS TO THINK ABOUT THAT QUESTION.

         11   Q.  LET ME ASK YOU TO LOOK AT A SELECTION FROM DEAN

         12   SCHMALENSEE'S WRITTEN TESTIMONY, PARAGRAPH 39, WHICH IS ON

         13   PAGE 20 OF HIS DIRECT TESTIMONY.

         14             MR. BOIES:  AND FOR YOUR CONVENIENCE, I AM GOING

         15   TO HAND UP A COMPLETE COPY OF DEAN SCHMALENSEE'S

         16   TESTIMONY --

         17             THE COURT:  THANK YOU.

         18             MR. BOIES:  -- BECAUSE WE WILL BE REFERRING TO

         19   VARIOUS PORTIONS DURING THE COURSE OF TODAY.

         20   BY MR. BOIES:

         21   Q.  AND I WANT TO BEGIN BY LOOKING AT PARAGRAPH 39, WHERE

         22   DEAN SCHMALENSEE WRITES, "SEVERAL FACTORS FACILITATE ENTRY

         23   INTO THE MICROCOMPUTER SOFTWARE INDUSTRY COMPARED WITH OTHER

         24   INDUSTRIES.  FIRMS NEED TWO PRIMARY RESOURCES TO COMPETE IN

         25   THE MICROCOMPUTER SOFTWARE INDUSTRY:  PROGRAMMERS AND THE
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          1   MONEY TO PAY THOSE PROGRAMMERS WHILE THEY DEVELOP AND MARKET

          2   ATTRACTIVE NEW PRODUCTS."

          3             THE FIRST QUESTION, AS A THRESHOLD MATTER,

          4   PROFESSER FISHER, DO YOU BELIEVE THAT THE ISSUE OF ENTRY

          5   INTO THE MICROCOMPUTER SOFTWARE INDUSTRY IS THE RIGHT

          6   QUESTION TO BE ASKING?

          7   A.  NO.  AND THIS IS WHERE YOU START TO GET MIXED UP BY NOT

          8   FOCUSING ON A MARKET DEFINITION TO BEGIN WITH.  THIS IS A

          9   CASE ABOUT -- THAT CENTERS ON; IT IS NOT ONLY ABOUT -- IT

         10   CENTERS ON MONOPOLY POWER IN THE MARKET FOR P.C. OPERATING

         11   SYSTEMS.  THE QUESTION OF ENTRY INTO THE MICROCOMPUTER

         12   SOFTWARE INDUSTRY IN GENERAL IS NOT RELEVANT.

         13   Q.  FROM YOUR ANALYSIS, IS THERE ANY SIGNIFICANT DIFFERENCE

         14   BETWEEN ENTRY INTO WHAT YOU HAVE DESCRIBED AS THE PERSONAL

         15   COMPUTER OPERATING SYSTEM MARKET AND ENTRY INTO THE SOFTWARE

         16   INDUSTRY GENERALLY?

         17   A.  OH, INDEED THERE IS.  LET ME EXPLAIN.

         18             ONE WAY TO TALK ABOUT THIS IS TO SAY, LOOK, IN

         19   DEFINING A MARKET AND THEN IN EXAMINING MONOPOLY POWER, YOU

         20   TYPICALLY LOOK AT TWO SETS OF THINGS THAT COULD CONSTRAIN

         21   THE POWER OF THE ALLEGED MONOPOLIST.  ONE IS CALLED DEMAND

         22   SUBSTITUTABILITY.  THAT'S THE SET OF PRODUCTS TO WHICH

         23   CUSTOMERS CAN TURN IN THE EVENT OF AN ATTEMPT TO EARN

         24   SUPERNORMAL PROFITS, CHARGE HIGH PRICES AND SO ON.

         25             NOW, -- AND I WILL COME TO THE SECOND IN A MINUTE.
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          1   THE MICROCOMPUTER SOFTWARE INDUSTRY DOES NOT PRODUCE

          2   PRODUCTS, FOR THE MOST PART, TO WHICH CUSTOMERS CAN TURN AS

          3   A SUBSTITUTE FOR OPERATING SYSTEMS.  TO TAKE A SIMPLE BUT

          4   ILLUMINATING EXAMPLE, NINTENDO PRODUCES GAMES.  GAMES ARE IN

          5   THE MICROCOMPUTER SOFTWARE INDUSTRY.  THAT'S NOT A

          6   CONSTRAINT ON MICROSOFT'S POWER IN THE -- IN PRICING ITS

          7   WINDOWS OPERATING SYSTEM.

          8             THE SECOND THING TO WHICH ONE LOOKS IS CALLED

          9   SUPPLY SUBSTITUTABILITY.  THIS IS RELATED TO ENTRY BARRIERS.

         10   AND THERE THE QUESTION IS, COULD FIRMS NOT NOW PRODUCING

         11   DEMAND SUBSTITUTABLE PRODUCTS -- COULD THOSE FIRMS EASILY

         12   TURN THEIR RESOURCES TO PRODUCING DEMAND SUBSTITUTABLE

         13   PRODUCTS.

         14             AND IF YOU WANT, I CAN GIVE AN EXAMPLE FROM

         15   ANOTHER INDUSTRY, BUT TO STAY ON THIS PARTICULAR POINT, IT

         16   IS, OF COURSE, TRUE THAT IN ORDER TO WRITE OPERATING

         17   SYSTEMS, YOU NEED PROGRAMMERS AND YOU NEED THE MONEY TO PAY

         18   THOSE PROGRAMMERS.  THAT'S PERFECTLY TRUE, BUT THAT'S NOT

         19   ENOUGH.  THAT IS BECAUSE THE ABILITY TO PRODUCE AN

         20   ATTRACTIVE OPERATING SYSTEM IS CIRCUMSCRIBED BY WHAT WAS

         21   CALLED -- WHAT'S BEEN CALLED IN THIS TRIAL THE APPLICATIONS

         22   BARRIER TO ENTRY.

         23             IT'S JUST -- NINTENDO HAS PROGRAMMERS AND IT

         24   PRESUMABLY HAS MONEY.  IT'S NOT GOING INTO THE OPERATING

         25   SYSTEM BUSINESS BECAUSE IT'S NOT GOING TO BE ABLE TO PRODUCE
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          1   AN OPERATING SYSTEM WITH THOSE PROGRAMMERS, OR WITH OTHER

          2   PROGRAMMERS, WHICH CAN OVERCOME THE ECONOMIES OF SCALE AND

          3   THE NETWORK EXTERNALITIES THAT ARE REQUIRED.  IT'S NOT GOING

          4   TO BE ABLE TO PRODUCE AN OPERATING SYSTEM WHICH ATTRACTS A

          5   VERY LARGE NUMBER OF APPLICATION WRITERS, ENOUGH TO OVERCOME

          6   MICROSOFT'S VERY COMMANDING LEAD.

          7             IT'S A GREAT MISTAKE TO THINK THAT WE ARE TALKING

          8   HERE ABOUT COMPETITION IN SOFTWARE IN GENERAL.  WE'RE NOT.

          9   Q.  IN TERMS OF THE ANALYSIS THAT YOU HAVE DONE WITH RESPECT

         10   TO PERSONAL COMPUTER OPERATING SOFTWARE, WHAT ARE SOME OF

         11   THE KEY FACTS OR FACTORS THAT YOU RELY ON TO SUPPORT YOUR

         12   CONCLUSION THAT THERE IS MONOPOLY POWER IN THAT PART OF THE

         13   SOFTWARE INDUSTRY?

         14   A.  WELL, I WOULD SAY THERE IS A MIXTURE OF FACTORS, SOME OF

         15   WHICH HAVE TO DO WITH THE DIRECT CONDUCT AND BEHAVIOR, AND

         16   SOME OF WHICH HAVE TO DO WITH THE STRUCTURE.  IN THE FIRST

         17   PLACE, MICROSOFT'S CUSTOMERS DO NOT BELIEVE THAT THEY HAVE

         18   SERIOUS COMMERCIAL ALTERNATIVES TO WINDOWS.  I AM THINKING

         19   HERE LARGELY OF THE OEM'S.

         20             SECOND.  GOES ALONG WITH THAT.  MICROSOFT HAS

         21   SUBSTANTIAL ABILITY TO VARY AND, INDEED, TO RAISE THE PRICE

         22   OF ITS OPERATING SYSTEMS WITHOUT FEARING THAT ITS CUSTOMERS

         23   ARE GOING TO TURN ELSEWHERE.  MICROSOFT'S -- THIRD,

         24   MICROSOFT IS NOT CONSTRAINED IN WHAT IT DOES BY THE

         25   EXISTENCE OF NON-MIRCOSOFT OPERATING SYSTEMS, OR NOT
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          1   PARTICULARLY CONSTRAINED.

          2             FOURTH, MICROSOFT'S -- THE ORDINARY WAY YOU

          3   PROCEED IN AN ANTITRUST CASE IS TO DEFINE A MARKET AND LOOK

          4   AT MARKET SHARES.  THOSE ARE NOT DISPOSITIVE, BUT THEY ARE

          5   OFTEN QUITE SUGGESTIVE.  HERE, MICROSOFT'S SHARE OF THE P.C.

          6   OPERATING SYSTEM BUSINESS HAS BEEN HIGH AND STABLE FOR SOME

          7   YEARS.  FURTHER, IT'S EXPECTED THAT IT'S GOING TO REMAIN

          8   HIGH FOR SOME YEARS.

          9             MOST IMPORTANT OF ALL, IN TERMS OF THE STRUCTURE

         10   OF THE INDUSTRY, THERE IS A VERY -- THERE IS A REASON FOR

         11   ALL THIS.  THERE IS A VERY BIG BARRIER TO ENTRY INTO

         12   COMPETING IN THE P.C. OPERATING SYSTEMS MARKET.  THERE IS

         13   THE APPLICATIONS BARRIER TO ENTRY.

         14             AND, FINALLY, MICROSOFT HAS, I THINK, PLAINLY

         15   TAKEN ACTIONS WHICH ONLY MAKE SENSE IF THEY BELIEVE THAT

         16   THEY HAVE A MONOPOLY TO PROTECT.  THOSE ARE, OF COURSE, THE

         17   ACTIONS WHICH ARE IN LARGE PART THE SUBJECT OF THIS CASE.

         18   Q.  NOW, IN DR. SCHMALENSEE'S ANALYSIS, DOES HE DEAL WITH

         19   THESE FACTORS THAT YOU HAVE IDENTIFIED AS EVIDENCE OF

         20   MICROSOFT'S MONOPOLY POWER IN THE PERSONAL COMPUTER

         21   OPERATING SYSTEM MARKET?

         22   A.  NOT REALLY.

         23   Q.  WHAT DOES HE DO INSTEAD?

         24   A.  WELL, THERE ARE SEVERAL THINGS THAT HE DOES.  IN THE

         25   FIRST PLACE, AS THE QUOTE ON THE SCREEN IN PARAGRAPH 39
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          1   SUGGESTS, HE DOES A GOOD DEAL OF LOOKING ABOUT COMPETITION

          2   IN THE MICROCOMPUTER SOFTWARE INDUSTRY GENERALLY, COMPARED

          3   WITH OTHER INDUSTRIES.  THAT'S NOT RELEVANT.  THAT'S NOT

          4   WHAT THIS IS ABOUT.

          5             IN THE SECOND PLACE, HE BEHAVES RATHER PECULIARLY

          6   ABOUT MARKET DEFINITION, APART FROM BASICALLY REFUSING TO

          7   DEFINE ONE, IN THAT HE DEFINES BOTH NETSCAPE AND JAVA IN THE

          8   OPERATING SYSTEMS MARKET.  AND FOR REASONS I WILL BE GLAD TO

          9   GO INTO, THAT MAKES NO SENSE, ALTHOUGH IT WOULDN'T MATTER, I

         10   THINK, TO THE ANALYSIS OF THIS CASE, IF HE DID IT RIGHT,

         11   WHETHER YOU INCLUDE THOSE OR NOT.

         12             THIRDLY, HE REGARDS THE FACT THAT MICROSOFT TOOK

         13   ACTION AGAINST WHAT IT PERCEIVED AS A THREAT, NAMELY, THE

         14   THREATS COMING FROM NETSCAPE AND JAVA, AS AN INDICATION THAT

         15   MICROSOFT DOES NOT HAVE MONOPOLY POWER.

         16             THAT CAN'T BE RIGHT.  IF THAT LINE OF ANALYSIS

         17   WERE RIGHT, THEN ANY MONOPOLIST WHO TOOK ACTION TO PRESERVE

         18   ITS MONOPOLY AND SAW A THREAT WORTH TAKING ACTION WOULD BE

         19   ABLE TO ARGUE SUCCESSFULLY THAT THE FACT THAT IT TOOK THE

         20   ACTION MEANS THAT IT CAN'T HAVE MONOPOLY POWER.

         21             HE ALSO CONFUSES THE POSSIBILITY -- WELL, LET ME

         22   BACK UP.  HE POINTS SEVERAL TIMES TO THE POSSIBILITY THAT

         23   THERE ARE UNKNOWN THREATS OUT THERE THAT COULD ARISE IN THE

         24   LONG RUN, AND THAT THE UNKNOWN THREATS CONSTRAIN MICROSOFT.

         25             WELL, THAT DOESN'T PREVENT MICROSOFT FROM HAVING
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          1   MONOPOLY POWER TODAY.  MICROSOFT'S ACTIONS ARE NOT

          2   CONSISTENT WITH THE PROPOSITION THAT IT'S CONSTRAINED BY

          3   LONG-RUN THREATS.  I WILL BE GLAD TO GO INTO THAT LATER.

          4             AND IN ANY EVENT -- WELL, TWO MORE THINGS.  ONE IS

          5   THE QUESTION AT ISSUE IS WHETHER MICROSOFT, IN DOING THINGS

          6   NOW, IS CONSTRAINED BY THE BELIEF THAT IT WILL BRING ON THE

          7   LONG-TERM THREATS.  THAT'S NOT THE SAME AS WHETHER A

          8   LONG-TERM THREAT WILL EMERGE.

          9             LET ME BE A LITTLE BIT MORE PRECISE.  IT MIGHT BE

         10   TRUE, AS DEAN SCHMALENSEE SAYS, THAT SOME UNKNOWN INNOVATOR

         11   WILL ONE DAY PRODUCE A PLATFORM THREAT THAT WILL ERODE

         12   MICROSOFT'S POWER.  MAYBE SO, BUT THE REAL QUESTION IS

         13   WHETHER THAT POSSIBILITY ACTUALLY CONSTRAINS WHAT MICROSOFT

         14   DOES NOW, AND THAT HAS TO DO WITH WHETHER MICROSOFT BELIEVES

         15   THAT IF IT CHARGES HIGH PRICES NOW, FOR EXAMPLE, IT IS

         16   LIKELY TO HASTEN THE DAY WHEN SUCH INNOVATIONS APPEAR.

         17             FINALLY, ONE SHOULD SAY AS A GENERAL VIEW THAT --

         18   HOW SHALL I PUT IT -- TO QUOTE PETER AND THE WOLF, "THE

         19   NOTION THAT A WOLF MIGHT COME OUT OF THE FOREST, WHAT WOULD

         20   YOU DO THEN?" AS THE GRANDFATHER SAYS TO PETER, IS NOT A

         21   SERIOUSLY ANALYTICALLY CORRECT WAY FOR LOOKING AT WHAT

         22   CONSTRAINTS ACTUALLY ARE.  THEY DON'T HAVE MONOPOLY POWER

         23   BECAUSE SOMEBODY MIGHT ONE DAY APPEAR TO COMPETE WITH THEM.

         24   THAT'S TRUE OF ANYTHING.

         25   Q.  AS A MATTER OF ECONOMIC ANALYSIS, DOES THE FACT THAT AT
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          1   SOME UNSPECIFIED POINT IN THE FUTURE, SOME UNSPECIFIED

          2   THREAT MIGHT ERODE MICROSOFT'S OPERATING SYSTEM POSITION,

          3   MEAN THAT MICROSOFT DOES NOT HAVE MONOPOLY POWER TODAY?

          4   A.  NO.  OF COURSE IT DOESN'T.  IT MEANS THAT THERE MIGHT

          5   COME A DAY -- AND WE DON'T KNOW WHEN -- WHEN MICROSOFT

          6   DOESN'T HAVE MONOPOLY POWER ANYMORE.

          7   Q.  NOW, YOU MENTIONED, IN THE COURSE OF YOUR ANSWER A FEW

          8   MINUTES AGO, THE QUESTION OF INCLUDING NETSCAPE IN THE

          9   RELEVANT MARKET.  AND YOU SAID THAT DEAN SCHMALENSEE DID

         10   THAT.  WHY SHOULD NETSCAPE NOT BE INCLUDED IN THE RELEVANT

         11   MARKET IN YOUR VIEW?  AND LET ME PUT IT IN THE CONTEXT THAT

         12   I THINK DEAN SCHMALENSEE TALKS ABOUT IT.

         13             HE SAYS THAT MICROSOFT WAS REACTING TO NETSCAPE

         14   AND YOU OUGHT TO PUT INTO THE RELEVANT MARKET WHATEVER

         15   COMPANIES MICROSOFT FEELS REQUIRED TO REACT TO.  WHAT'S YOUR

         16   RESPONSE TO THAT?

         17   A.  WELL, APART FROM THE QUESTION OF WHERE THAT LEADS YOU AS

         18   TO WHETHER YOU OUGHT TO COME OUT IN THE SAME PLACE, THE FACT

         19   IS THAT THAT STRIKES ME AS QUITE PECULIAR.  LET ME GIVE

         20   YOU -- LET ME SAY WHY.

         21             NETSCAPE WASN'T, AT LEAST AT THE TIME -- NOR WAS

         22   JAVA -- DIRECTLY COMPETING IN THE P.C. OPERATING SYSTEMS

         23   MARKET.  THEY MIGHT ONE DAY DO THAT AND THEY CERTAINLY

         24   MIGHT, IN FACT, HAVE FACILITATED -- THAT'S WHAT A LOT OF

         25   THIS CASE IS ABOUT -- FACILITATED THE ENTRY OF OTHER
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          1   COMPETITORS -- QUOTE, COMMODITIZE THE OPERATING SYSTEM, END

          2   QUOTE, AS MICROSOFT SAYS INTERNALLY, AND LEAD THE

          3   COMPETITION WITH MICROSOFT, BUT THEY THEMSELVES WERE NOT

          4   DOING IT.

          5             IT'S AS THOUGH YOU HAVE THE FOLLOWING EXAMPLE.

          6   SUPPOSE THAT THERE IS A MONOPOLY OF GASOLINE AND THAT

          7   SOMEONE INVENTS A CAR WHICH WILL USE METHANOL PARTICULARLY

          8   EFFECTIVELY.  NOW, THAT FACT MIGHT MEAN THAT METHANOL WAS

          9   THEN IN THE SAME MARKET WHEN THIS STARTED -- WHEN THIS

         10   ACTUALLY HAPPENED.  THAT MIGHT MEAN THAT METHANOL WAS IN THE

         11   SAME MARKET AS GASOLINE, BUT ONE WOULDN'T TYPICALLY SAY THAT

         12   THE CAR WAS IN THE SAME MARKET AS GASOLINE.

         13             TO TAKE A DIFFERENT EXAMPLE -- WELL, I CAN THINK

         14   OF AT LEAST TWO.  TAKE A DIFFERENT EXAMPLE.  SUPPOSE THAT

         15   SOMEONE IN CALIFORNIA HAD A MONOPOLY OF SOME FAIRLY BULKY

         16   PRODUCT.  AND NOW IT TURNS OUT -- THIS IS ECONOMIC HISTORY

         17   NOW BECAUSE THERE ARE NO RAILROADS INTO CALIFORNIA IN THIS

         18   STORY, AND NOW SOMEONE PROPOSES TO BUILD A RAILROAD OVER

         19   THE -- THROUGH THE PASSES IN THE ROCKIES AND TO HAUL IN

         20   FURTHER SUPPLIES OF THE PARTICULAR BULKY PRODUCT.  WELL,

         21   THOSE FURTHER SUPPLIES WOULD THEN BE IN THE CALIFORNIA

         22   MARKET, BUT YOU WOULDN'T SAY THAT THE RAILROAD WAS IN THE

         23   SAME MARKET AS, YOU KNOW, COAL OR ALUMINUM OR WHATEVER.

         24             I CAN GO ON, BUT I TAKE IT THAT'S FAIRLY CLEAR.

         25   Q.  WHAT IF THE HYPOTHETICAL CALIFORNIA MONOPOLIST TOOK
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          1   ACTION TO TRY TO REACT TO THE THREAT OF A RAILROAD COMING

          2   IN?  WOULD THAT CHANGE YOUR ANALYSIS?

          3   A.  NO.  THAT WOULD SUGGEST THAT HE WAS TAKING ACTION TO

          4   PROTECT -- I SUPPOSE IN THOSE DAYS MONOPOLISTS WOULD HAVE TO

          5   BE HE -- HE WAS TAKING ACTION TO PROTECT HIS MONOPOLY IN

          6   CALIFORNIA, AND HE WAS DOING IT, LET'S SAY, BY TRYING TO

          7   DESTROY THE RAILROAD WHICH WAS GOING TO FACILITATE

          8   COMPETITION.  BUT THAT STILL WOULDN'T PUT THE RAILROAD IN

          9   THE BULKY COMMODITY BUSINESS.

         10   Q.  WOULD THE FACT THAT THERE WAS A THREAT OR POTENTIAL

         11   THREAT OF SOMEBODY BUILDING A RAILROAD TO BRING THIS

         12   ADDITIONAL SUPPLY OF THE PRODUCT INTO CALIFORNIA MEAN THAT

         13   THE CALIFORNIA SUPPLIER DID NOT HAVE MONOPOLY POWER?

         14   A.  WELL, IT CERTAINLY WOULDN'T MEAN IT IF THERE WAS ONLY A

         15   POTENTIAL THREAT.  ACTUALLY, I'M NOT SURE WHAT THE

         16   DIFFERENCE IS BETWEEN A POTENTIAL THREAT AND A THREAT.  BUT

         17   IF THE RAILROAD HADN'T BEEN BUILT AND WAS NOT ABOUT TO BE

         18   BUILT, THERE WOULD STILL BE MONOPOLY POWER IN CALIFORNIA.

         19   IT'S TO PROTECT THAT MONOPOLY POWER THAT THE HYPOTHETICAL

         20   MONOPOLIST IN THIS STORY MIGHT WISH TO TAKE ACTION TO

         21   PREVENT A RAILROAD FROM BEING BUILT.

         22   Q.  NOW, YOU'VE MENTIONED A COUPLE TIMES THINGS THAT

         23   FACILITATE COMPETITION.  AND CAN YOU EXPLAIN WHAT YOU MEAN

         24   BY THAT AS DISTINGUISHED FROM THE COMPETITION ITSELF.

         25   A.  WELL, IN THE TWO EXAMPLES, A CAR ENGINE -- THE CAR
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          1   FACILITATES COMPETITION FROM -- THE CAR INNOVATION

          2   FACILITATES COMPETITION FROM METHANOL.  THE RAILROAD

          3   FACILITATES COMPETITION IN WHATEVER THIS UNNAMED COMMODITY

          4   IS.

          5             IN THE PRESENT CASE, THE GROWTH OF THE NETSCAPE

          6   BROWSER OR THE WIDESPREAD USE OF ORIGINAL JAVA MIGHT

          7   PERFECTLY WELL HAVE BROKEN DOWN THE APPLICATION BARRIERS TO

          8   ENTRY AND ALLOWED OTHER OPERATING SYSTEMS TO COMPETE.  BUT

          9   IT WOULD BE THE OTHER OPERATING SYSTEMS THAT WERE THEN ON

         10   THE MARKET, NOT THE -- NOT EITHER NETSCAPE, THE BROWSER

         11   MAKER, OR SUN BECAUSE OF JAVA.

         12   Q.  NOW, IN SEVERAL OF YOUR ANSWERS, YOU'VE REFERRED TO

         13   PERIOD OF TIME.  YOU TALKED ABOUT HOW SOMETHING MIGHT HAPPEN

         14   IN THE FUTURE, AND, OBVIOUSLY, THERE IS A TEMPORAL QUALITY

         15   TO MONOPOLY POWER.  I TAKE IT YOU WOULD AGREE THAT NO

         16   MONOPOLY, OR VERY FEW, IF ANY, WOULD LAST FOREVER.

         17   A.  I HOPE NOT.

         18   Q.  AND I TAKE IT, IT WOULD BE EQUALLY TRUE THAT IF SOMEBODY

         19   HAS EVEN A HUNDRED PERCENT OF A PRODUCT OR SERVICE, BUT WILL

         20   HOLD THAT ONLY FOR A VERY SHORT PERIOD OF TIME, EITHER THAT

         21   WOULD NOT BE MONOPOLY POWER OR MIGHT NOT BE MONOPOLY POWER

         22   WORTH WORRYING ABOUT.

         23   A.  YES, I AGREE WITH THAT.

         24   Q.  NOW, ONE OF THE THINGS THAT PROFESSOR SCHMALENSEE

         25   ADDRESSES IN HIS WRITTEN DIRECT TESTIMONY IS WHAT THE PERIOD
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          1   OF TIME IS OVER WHICH ECONOMIC ANALYSIS SHOULD BE

          2   UNDERTAKEN, AND I'D LIKE TO REFER YOU TO PARAGRAPH 184 OF

          3   HIS WRITTEN DIRECT, WHICH IS ON PAGE 92.

          4   A.  YES.

          5   Q.  NOW, HE SAYS -- AND THIS IS IN THE CONTEXT OF EVALUATING

          6   WHETHER OR NOT MICROSOFT HAS MONOPOLY POWER -- HE SAYS, "THE

          7   ISSUE AT THIS STAGE OF THE ANALYSIS IS NOT WHETHER MICROSOFT

          8   COULD RAISE THE PRICE BY 5 PERCENT FOR A NONTRANSITORY

          9   PERIOD OF TIME -- THE QUESTION ASKED BY THE MERGER

         10   GUIDELINES FOR THE PURPOSE OF EVALUATING THE COMPETITIVE

         11   EFFECTS OF A MERGER.  THE ISSUE IS WHETHER MICROSOFT COULD

         12   RECOUP ITS ALLEGEDLY SUBSTANTIAL INVESTMENTS OVER A LONG

         13   PERIOD OF TIME.

         14             "TO ANSWER THAT QUESTION, IT IS NECESSARY TO

         15   EXAMINE LONG-RUN COMPETITION AND, THEREFORE, LONG-RUN ENTRY

         16   AND OTHER SUPPLY RESPONSES.  THEREFORE, THE RELEVANT

         17   ANTITRUST MARKET SHOULD CONSIST OF PRODUCTIVE CAPACITY THAT

         18   COULD BE DEPLOYED OVER THE RELEVANT PERIOD OF TIME."

         19             NOW, DO YOU AGREE WITH THAT ANALYSIS?

         20   A.  I DO AND I DON'T.  PERHAPS I SHOULD SAY I DON'T AND I

         21   DO.

         22   Q.  WHY DON'T YOU EXPLAIN BOTH HALVES.

         23   A.  OKAY.  I THINK THERE ARE TWO THINGS GOING ON HERE.  ONE

         24   OF THEM IS CORRECT AND ONE OF THEM ISN'T.  IT IS TRUE -- I

         25   WILL GO FOR THE CORRECT ONE FIRST -- IT IS TRUE THAT IN
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          1   CONSIDERING THE QUESTION OF MICROSOFT'S RECOUPMENT OF THE

          2   LOSSES TAKEN DURING ITS PREDATORY CAMPAIGN -- IF YOU SUPPOSE

          3   THAT THAT RECOUPMENT GOES ON A LONG TIME, THEN YOU HAVE TO

          4   CONSIDER WHAT HAPPENS IN THE LONG RUN.  THAT PART IS

          5   PERFECTLY LOGICAL AND PERFECTLY TRUE.

          6             THAT IS ABSOLUTELY NOT THE SAME AS THE QUESTION OF

          7   WHETHER MICROSOFT HAS MONOPOLY POWER NOW AND WHETHER

          8   MICROSOFT HAS MONOPOLY -- SIGNIFICANT MONOPOLY POWER FOR A

          9   SUBSTANTIAL PERIOD OF TIME.

         10             LET'S SEE IF I CAN GIVE AN EXAMPLE.  TO DO IT

         11   OTHERWISE IS TO SAY -- SUPPOSE THAT, LET'S SAY, IN 1980, ONE

         12   WOULD NEED TO EXAMINE THE TELEPHONE INDUSTRY -- AT&T'S POWER

         13   IN THE TELEPHONE INDUSTRY INTO THE NEXT MILLENNIUM BECAUSE

         14   IT IS POSSIBLE THAT IF IT SUCCEEDED IN DRIVING OUT MCI, IT

         15   WOULD STILL RECOUP MONEY 30 YEARS LATER.

         16             THE QUESTION OF POWER -- LET ME SEE IF I CAN SAY

         17   THIS ALL A DIFFERENT WAY.  THE QUESTION OF MICROSOFT'S POWER

         18   AND WHETHER IT HAS MONOPOLY POWER DOES NOT DEPEND UPON THE

         19   LENGTH OF TIME IT WILL TAKE MICROSOFT TO RECOUP ITS

         20   INVESTMENTS.  I DON'T HAPPEN TO THINK THAT THAT LENGTH OF

         21   TIME IS ALL THAT LONG, BUT THAT'S A DIFFERENT POINT.  THE

         22   QUESTION OF WHETHER MICROSOFT WILL REASONABLY RECOUP DOES

         23   REQUIRE EXAMINING HOW LONG THAT RECOUPMENT CAN REASONABLY BE

         24   EXPECTED TO LAST.

         25   Q.  LET ME SEE IF I UNDERSTAND WHAT YOU'RE SAYING.  YOU'RE
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          1   DRAWING A DISTINCTION BETWEEN THE PERIOD OF TIME THAT IT MAY

          2   OR MAY NOT BE NECESSARY TO RECOUP AN INVESTMENT IN PREDATORY

          3   PRICING OR PREDATORY ACTIVITY AND THE PERIOD OF TIME THAT IT

          4   MAY BE APPROPRIATE TO EVALUATE WHETHER OR NOT A COMPANY HAS

          5   MONOPOLY POWER?

          6   A.  YES.

          7   Q.  IF YOU HAVE A SITUATION IN WHICH A COMPANY IS ALLEGED TO

          8   HAVE ENGAGED IN PREDATORY ACTIVITY, AND ASSUMING -- I KNOW

          9   THIS IS CONTRARY TO WHAT YOU JUST SAID YOU BELIEVE -- BUT

         10   ASSUME THAT THAT RECOUPMENT WOULD TAKE PLACE OVER A LONG

         11   PERIOD OF TIME, DOES THAT FACT HAVE ANY IMPLICATIONS FOR HOW

         12   LONG A PERIOD OF TIME YOU OUGHT TO LOOK AT MARKET POWER FOR

         13   DETERMINING WHETHER OR NOT THE COMPANY HAS MONOPOLY POWER?

         14   A.  NO, IT DOESN'T.  LET ME PUT IT THIS WAY.  SUPPOSE YOU

         15   HAVE TWO SITUATIONS.  IN THE FIRST SITUATION, YOU HAVE A

         16   COMPANY THAT IS NOT TAKING PREDATORY ACTION, AND YOU WISH TO

         17   ASK WHETHER IT HAS MONOPOLY POWER.  THAT'S A FREE-STANDING,

         18   WELL-DEFINED QUESTION.  IT MAY HAVE A DIFFICULT ANSWER, BUT

         19   THAT'S BESIDE THE POINT.  AND THERE IS SOME PERIOD OF TIME

         20   THAT YOU WANT TO LOOK AT TO DECIDE THAT QUESTION.

         21             NOW CASE B.  THE SAME SITUATION, THE SAME COMPANY,

         22   BUT THERE IS AN ALLEGED PREDATORY ACT.  TO EVALUATE WHETHER

         23   THAT COMPANY HAS MONOPOLY POWER, THE FACT THAT IT'S NOW

         24   TAKING A PREDATORY ACT HASN'T CHANGED THE TIME PERIOD FROM

         25   THE FIRST CASE.  UNDERSTANDING THE CONSEQUENCES OF THE
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          1   PREDATORY ACT AND THE RECOUPMENT PERIOD, YES, THAT MAY

          2   INVOLVE LOOKING AT A LONGER TIME, BUT FOR THE MARKET POWER

          3   QUESTION, THERE IS NO RELEVANCE.

          4   Q.  DOES THE EXISTENCE OF COMPETITORS MEAN THAT A COMPANY

          5   DOES NOT HAVE MONOPOLY POWER?

          6   A.  NO.  I CAN'T RESIST IT.  I'M SORRY.  I ONCE, LONG AGO,

          7   WAS ASKED BY MY CHILDREN WHAT I EXPECTED TO TESTIFY TO IN

          8   THE IBM CASE, AND I SAID THAT I EXPECTED TO TESTIFY THAT IBM

          9   WAS NOT A MONOPOLY BECAUSE IT DIDN'T OWN BOARDWALK AND PARK

         10   PLACE.  AND THEY SAID WITH SOME HORROR, "YOU WOULDN'T."

         11             ANYWAY, IT'S TRUE THAT MONOPOLY MEANS SINGLE

         12   SELLER.  BUT MONOPOLY POWER IS NOT RESTRICTED TO THE CASE OF

         13   A SINGLE SELLER.  IT'S WELL-ACCEPTED THAT A FIRM CAN HAVE

         14   MONOPOLY POWER WITH A FRINGE OF COMPETITORS, AND THAT

         15   MONOPOLY POWER MEANS A SUSTAINED AND SUBSTANTIAL AMOUNT OF

         16   MARKET POWER, THE ABILITY TO EARN -- CHARGE SUPERNORMAL

         17   PRICES AND EARN SUPERNORMAL PROFITS.

         18   Q.  LET ME ASK YOU TO LOOK AT PARAGRAPH 38 OF DEAN

         19   SCHMALENSEE'S WRITTEN TESTIMONY.  THIS IS THE PARAGRAPH THAT

         20   IMMEDIATELY PRECEDES THE DISCUSSION IN PARAGRAPH 39 THAT WE

         21   HAVE BEEN LOOKING AT BEFORE.

         22             HE SAYS HERE, "HUNDREDS OF FIRMS HAVE THE ASSETS

         23   NECESSARY TO COMPETE EFFECTIVELY.  AT LEAST 12,000 FIRMS ARE

         24   ACTIVELY COMPETING IN THE MICROCOMPUTER SOFTWARE INDUSTRY.

         25   MORE THAN 2,000 FIRMS HAVE ENTERED THE MICROCOMPUTER
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          1   SOFTWARE INDUSTRY SINCE 1991.  MORE THAN 190 IPO'S FOR

          2   MICROCOMPUTER SOFTWARE OR INTERNET-RELATED SOFTWARE

          3   COMPANIES HAVE TAKEN PLACE SINCE 1997."

          4   A.  JANUARY 1997.

          5   Q.  SINCE JANUARY 1997.

          6             IS THAT RELEVANT TO AN ANALYSIS AS TO WHETHER

          7   MICROSOFT DOES OR DOES NOT HAVE MONOPOLY POWER IN THIS CASE?

          8   A.  WELL, I DON'T WANT TO SAY IT'S COMPLETELY IRRELEVANT

          9   BECAUSE, IN ONE SENSE, IT IS.  BUT IT'S CERTAINLY NOT

         10   DIRECTLY ON POINT.  AND IT'S FAR FROM SHOWING WHAT DEAN

         11   SCHMALENSEE THINKS IT SHOWS.  THIS IS BECAUSE OF WHAT I SAID

         12   BEFORE.

         13             THIS CASE IS ABOUT THE LACK OF -- COMPETITION OR

         14   THE LACK OF COMPETITION, MONOPOLY POWER IN THE MARKET FOR

         15   P.C. OPERATING SYSTEMS.  THE FACT THAT THERE ARE ALL THESE

         16   FIRMS OUT THERE IN THE SOFTWARE BUSINESS GENERALLY AND THAT

         17   ENTRY IS EASY IN THE SOFTWARE BUSINESS GENERALLY DOESN'T

         18   TELL YOU MORE THAN ONE THING ABOUT WHETHER ENTRY IS GOING TO

         19   BE EASY OR COMPETITION STRONG IN THE MARKET FOR P.C.

         20   OPERATING SYSTEMS.

         21             THE ONE THING IT DOES TELL YOU IS THAT IF THERE

         22   WERE NO OTHER BARRIERS TO ENTRY INTO OPERATING SYSTEMS, THAT

         23   ACQUIRING PROGRAMMERS AND FINANCING AND SO FORTH WOULDN'T BE

         24   A PROBLEM.

         25             THAT'S PERFECTLY TRUE.  UNFORTUNATELY, THERE IS A
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          1   VERY SUBSTANTIAL BARRIER TO ENTRY.  I SUPPOSE IT WOULD BE

          2   HARDER TO GET IN IF IT WEREN'T EASY TO GET PROGRAMMERS, BUT

          3   GETTING GOOD PROGRAMMERS IS NOT ANYWHERE NEAR ENOUGH TO GET

          4   INTO THE P.C. OPERATING SYSTEMS BUSINESS.

          5   Q.  FOCUSING ON THE QUESTION OF ENTRY, DEAN SCHMALENSEE HERE

          6   SAYS THAT 2,000 FIRMS HAVE ENTERED THE MICROCOMPUTER

          7   SOFTWARE INDUSTRY SINCE 1991.

          8             SINCE 1991, HAS ANY FIRM -- ANY NEW FIRM ENTERED

          9   THE P.C. OPERATING SYSTEM BUSINESS AND SUCCEEDED

         10   SUFFICIENTLY TO ACQUIRE EVEN 5 PERCENT OF THAT MARKET?

         11   A.  NO.

         12   Q.  AND IS THAT SIGNIFICANT TO YOUR ANALYSIS AS TO WHETHER

         13   THERE IS MONOPOLY POWER WITH RESPECT TO P.C. OPERATING

         14   SYSTEMS?

         15   A.  SURE.  ENTRY INTO THAT BUSINESS ISN'T EASY; IT'S VERY

         16   DIFFICULT.

         17   Q.  DEAN SCHMALENSEE ALSO TALKS ABOUT WHETHER OR NOT

         18   MICROSOFT HAS ECONOMIC POWER OVER SOFTWARE DISTRIBUTION.

         19   AND IN THAT CONNECTION, I'D LIKE TO ASK YOU TO LOOK AT

         20   PARAGRAPH 345 OF HIS WRITTEN DIRECT TESTIMONY.  AND THAT

         21   BEGINS, "PROFESSOR FISHER AND DR. WARREN-BOLTON PRESENT NO

         22   ECONOMIC ANALYSIS OR EVIDENCE ON THE CRITICAL CLAIM THAT

         23   MICROSOFT HAS ECONOMIC POWER OVER SOFTWARE DISTRIBUTION."

         24   DO YOU SEE THAT?

         25   A.  I CERTAINLY DO.
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          1   Q.  IS THE QUESTION OF WHETHER OR NOT MICROSOFT HAS ECONOMIC

          2   POWER OVER SOFTWARE DISTRIBUTION THE CRITICAL CLAIM IN THIS

          3   CASE --

          4   A.  NO.

          5   Q.  -- AS FAR AS YOU'RE CONCERNED?

          6   A.  I'M SORRY.

          7   Q.  AS FAR AS YOU'RE CONCERNED?

          8   A.  NO.  PROFESSOR FISHER PRESENTED NO ECONOMIC ANALYSIS ON

          9   THAT CLAIM BECAUSE THAT CLAIM HAS VERY LITTLE TO DO, IF ANY,

         10   WITH THE CASE.

         11   Q.  WHAT IS THE AREA THAT IT IS CRITICAL TO ASSESS WHETHER

         12   MICROSOFT HAS ECONOMIC POWER?

         13   A.  IT'S THE AREA OF OPERATING SYSTEMS FOR P.C.'S.

         14   Q.  AND COULD MICROSOFT HAVE MONOPOLY POWER OVER THAT AREA

         15   WITHOUT HAVING ECONOMIC POWER OR MONOPOLY POWER OVER

         16   SOFTWARE DISTRIBUTION GENERALLY?

         17   A.  NOT ONLY COULD IT.  IT DOES.

         18   Q.  LET ME ASK YOU TO GO BACK TO PAGE 92 OF DEAN

         19   SCHMALENSEE'S WRITTEN DIRECT IN PARAGRAPH 185.

         20   A.  DO YOU MEAN 184 OR 185?

         21   Q.  184 WAS THE ONE WE WERE TALK ABOUT.

         22   A.  ALL RIGHT.  BECAUSE 184 WAS ON THE SCREEN.

         23   Q.  I NOW WANT TO TALK ABOUT 185.

         24   A.  OKAY.

         25   Q.  IN THE BEGINNING, HE TALKS ABOUT MICROSOFT FACING ACTUAL
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          1   OR POTENTIAL COMPETITION FROM NETSCAPE AND VARIOUS OTHER

          2   COMPANIES, AND TO SOME EXTENT YOU'VE DEALT WITH THAT.  WHAT

          3   I WANT TO DO IS DIRECT YOUR ATTENTION TO THE SECOND HALF OF

          4   THAT PARAGRAPH WHERE HE SAYS "MUCH OF MICROSOFT'S FUTURE

          5   COMPETITION IS UNKNOWN.  IT WAS NOT KNOWN IN 1994 THAT

          6   NETSCAPE, JAVA AND LINUX WOULD BECOME COMPETITIVE THREATS TO

          7   MICROSOFT.  IT IS NOT KNOWN TODAY WHO WILL BECOME

          8   COMPETITIVE THREATS TO MICROSOFT IN 2002.  PERHAPS INTEREST

          9   IN THE BEOS WILL EXPLODE; PERHAPS A SCALED-UP PALM OS WILL

         10   ENCHANT DEVELOPERS OF DESKTOP APPLICATIONS; OR PERHAPS A

         11   STUDENT JUST ADMITTED TO M.I.T. WILL DEVELOP A KILLER

         12   OPERATING SYSTEM."

         13   A.  WELL, I WOULD LIKE TO THINK IT WAS THE LAST ONE.

         14   Q.  ASSUMING THAT ALL OF THOSE ARE, IN FACT, POSSIBILITIES,

         15   DO ANY OF THEM AFFECT WHETHER OR NOT MICROSOFT HAS MONOPOLY

         16   POWER AT THE PRESENT TIME WITH RESPECT TO P.C. OPERATING

         17   SYSTEMS?

         18   A.  NO.  AND WHAT'S MORE, AT LEAST ONE OF THEM DOESN'T SEEM

         19   TO ME TO AFFECT WHETHER MICROSOFT WILL CONTINUE TO HAVE

         20   MONOPOLY POWER WITH RESPECT TO P.C. OPERATING SYSTEMS.

         21   THAT'S THE PALM ONE.

         22             THE PROSPECT, IF IT IS A PROSPECT, THAT OTHER

         23   DEVICES MAY PROVIDE SUBSTITUTES FOR P.C.'S IS NOT SOMETHING

         24   WHICH IS A SUBSTANTIAL CONSTRAINT ON MICROSOFT IN ITS POWER

         25   OVER OS'S FOR P.C.'S.  LET ME SEE IF I CAN EXPLAIN THAT.
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          1             THE QUESTION AT ISSUE IN ASSESSING MICROSOFT'S

          2   POWER IS NOT WHETHER A CHANGE -- AN INCREASE IN THE PRICE OF

          3   THE P.C. AS A WHOLE WOULD CAUSE PEOPLE TO TURN TO OTHER

          4   NON-P.C. DEVICES, OR FOR THAT MATTER, TO APPLE.  THE

          5   QUESTION IS WHETHER AN INCREASE IN THE OPERATING SYSTEM

          6   PRICE WILL CAUSE THAT TO HAPPEN.

          7             AND THE OPERATING -- A 10 PERCENT INCREASE, LET'S

          8   SAY, IN MICROSOFT'S OPERATING SYSTEM PRICE IS A RELATIVELY

          9   SMALL -- IN FACT, IT'S QUITE A SMALL INCREASE IN THE PRICE

         10   OF THE P.C. AS A WHOLE, INCLUDING THE OPERATING SYSTEM.  AND

         11   IT'S NOT -- EVEN IF A 10 PERCENT INCREASE IN THE PRICE OF

         12   P.C.'S WOULD CAUSE PEOPLE TO CHANGE TO PALMS OR TO OTHER

         13   DEVICES, THAT'S NOT WHAT WE'RE TALKING ABOUT.

         14             A 10 PERCENT INCREASE IN MICROSOFT'S OPERATING

         15   SYSTEM PRICE AMOUNTS TO, IF I RECALL CORRECTLY, LESS THAN A

         16   1 PERCENT INCREASE IN THE P.C. PRICE.  SO THE RELEVANCE OF

         17   THINGS LIKE PALM AND OTHER DEVICES IS, AT BEST, A

         18   PROPOSITION THAT THE THING THAT MICROSOFT HAS A MONOPOLY

         19   OVER, NAMELY OPERATING SYSTEMS FOR P.C.'S, MAY, IN FACT,

         20   BECOME LESS IMPORTANT AS TIME GOES ON.  AND SO THE

         21   IMPORTANCE OF MICROSOFT'S MONOPOLY AND THE VALUE OF THE

         22   MONOPOLY AND ITS IMPORTANCE TO THE ECONOMY MIGHT GO DOWN.

         23             NOW, I SHOULD REMARK THAT I DON'T BELIEVE THAT

         24   THAT'S VERY LIKELY TO HAPPEN, AND ACCORDING TO A RECENT

         25   NEWSWEEK ARTICLE, NEITHER DOES MR. GATES.
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          1   Q.  EVEN IF IT WERE TRUE THAT THE RELATIVE IMPORTANCE OF THE

          2   PERSONAL COMPUTER WERE TO DECREASE IN THE FUTURE, WOULD THAT

          3   AFFECT WHETHER MICROSOFT CONTINUED TO HAVE MONOPOLY POWER

          4   OVER THE P.C. OPERATING SYSTEM?

          5   A.  IT WOULD NOT.

          6   Q.  THE P.C. INDUSTRY IS OBVIOUSLY A VERY IMPORTANT INDUSTRY

          7   AT THE PRESENT TIME.  EVEN IF THAT IMPORTANCE WERE TO BE

          8   SOMEWHAT DIMINISHED, WOULD IT STILL BE IMPORTANT TO ASSESS

          9   WHETHER OR NOT MICROSOFT HAD MONOPOLY POWER IN THAT

         10   INDUSTRY?

         11   A.  OF COURSE IT WOULD.  I DON'T THINK ONE OUGHT TO THINK

         12   THAT THE POSSIBLE INNOVATIONS IN VARIOUS OTHER DEVICES ARE

         13   GOING TO, WITHIN THE REASONABLY FORESEEABLE FUTURE -- BY

         14   THAT I MEAN 5, 10, 15 YEARS, OR EVEN BEYOND -- ARE GOING TO

         15   REDUCE THE PROBLEM OF MICROSOFT'S MONOPOLY TO THE QUESTION

         16   OF DO WE CARE ABOUT WHETHER SOMEBODY HAS A MONOPOLY OVER A

         17   HORSE AND BUGGY MANUFACTURER.

         18   Q.  LET ME TURN TO THE RELATIONSHIP BETWEEN WHETHER OR NOT

         19   MICROSOFT HAS MONOPOLY POWER OVER THE OPERATING SYSTEM --

         20   THE RELATIONSHIP OF THAT ISSUE TO THE SECOND ISSUE THAT YOU

         21   TALK ABOUT, WHICH IS ANTI-COMPETITIVE CONDUCT.  IN THAT

         22   CONNECTION, I'D LIKE TO ASK YOU TO LOOK AT PARAGRAPH 92,

         23   DEAN SCHMALENSEE'S WRITTEN DIRECT TESTIMONY.

         24             NOW, HERE HE SAYS THAT "THE QUESTION OF WHETHER

         25   MICROSOFT HAS MONOPOLY POWER OVER THE OPERATING SYSTEM IS
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          1   NOT RELEVANT TO THE THEORY OF ANTI-COMPETITIVE CONDUCT

          2   ADVANCED BY PROFESSER FISHER AND DR. WARREN-BOLTON."  DO

          3   YOU SEE THAT?

          4   A.  I SURE DO.

          5   Q.  DO YOU AGREE WITH THAT?

          6   A.  OBVIOUSLY NOT.  I THINK MONOPOLY POWER OVER THE

          7   OPERATING SYSTEM IS CENTRAL TO THE THEORY OF

          8   ANTI-COMPETITIVE CONDUCT ADVANCED BY PROFESSOR FISHER AND

          9   DR. WARREN-BOLTON.

         10             YOU MAY NOT AGREE WITH THE THEORY, BUT IT'S

         11   RIDICULOUS TO SUPPOSE THAT THAT QUESTION HAS NOTHING TO DO

         12   WITH IT.

         13             BY THE WAY, I HAVE EXAMINED SECTION VII OF DEAN

         14   SCHMALENSEE'S TESTIMONY AND I LOOK IN VAIN FOR THIS

         15   DEMONSTRATION THAT IT'S NOT RELEVANT.

         16   Q.  I TAKE IT YOUR REFERENCE THERE IS TO THE FACT THAT HE

         17   SAYS, "AS I SHOW IN SECTION VII, THE QUESTION OF WHETHER

         18   MICROSOFT HAS MONOPOLY POWER OVER THE OPERATING SYSTEM IS

         19   NOT RELEVANT"?

         20   A.  YES.  SECTION VII IS ALL ABOUT WHETHER MICROSOFT HAS

         21   POWER OVER SOFTWARE DISTRIBUTION, WHICH IS IRRELEVANT.

         22   Q.  WHY IS THE QUESTION OF WHETHER OR NOT MICROSOFT HAS

         23   MONOPOLY POWER OVER THE OPERATING SYSTEM RELEVANT TO THE

         24   ISSUE OF ANTI-COMPETITIVE CONDUCT?

         25   A.  BECAUSE THE CASE IS ABOUT MICROSOFT'S ACTIONS TO PROTECT
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          1   ITS MONOPOLY AND IT'S TO PROTECT ITS MONOPOLY OVER OPERATING

          2   SYSTEMS THAT IT TOOK THOSE ACTIONS.  WITHOUT MONOPOLY POWER

          3   IN THE OPERATING SYSTEM, THIS WOULD BE A VERY, VERY,

          4   DIFFERENT CASE, IF INDEED IT WERE A CASE AT ALL.

          5   Q.  ONE OF THE THINGS THAT DEAN SCHMALENSEE SAYS IS THAT THE

          6   MICROCOMPUTER SOFTWARE INDUSTRY IS WHAT HE CHARACTERIZES AS

          7   A "WINNER-TAKE-ALL" COMPETITION.  DO YOU RECALL THAT?

          8   A.  I DO.

          9             MR. LACOVARA:  OBJECTION, YOUR HONOR.  I BELIEVE

         10   THAT MISCHARACTERIZE THE TESTIMONY.  I ASK THAT MR. BOIES

         11   QUOTE FROM SPECIFIC PLACES IN THE TESTIMONY.

         12   BY MR. BOIES:

         13   Q.  LET ME ASK YOU TO LOOK AT PAGE 295 OF THE WRITTEN DIRECT

         14   TESTIMONY.

         15   A.  YOU MEAN PARAGRAPH 295?

         16   Q.  NO.  PAGE 295.

         17   A.  PAGE 295, OKAY.

         18             NOW, YOU PROBABLY HAVE THESE THINGS IN FRONT OF

         19   YOU.  I SHOULD STOP TRYING TO TELL YOU WHAT YOU REALLY MEAN.

         20   Q.  EVEN THOUGH I HAVE THEM IN FRONT OF ME, THAT'S NOT

         21   ALWAYS A GUARANTEE.  BUT I DO HAVE IT IN FRONT OF ME HERE.

         22             AND AT THE TOP OF THE PAGE, WHERE HE'S TALKING

         23   ABOUT THE PREDATORY DEFINITION PROPOSED BY PROFESSOR FISHER,

         24   DEAN SCHMALENSEE WRITES, "IT IS FUNDAMENTALLY UNCLEAR WHAT

         25   SORTS OF LIMITS HE WOULD PLACE ON COMPETITION IN A
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          1   `WINNER-TAKE ALL' CATEGORY, THOUGH HIS DEFINITION DOES SEEM

          2   TO RULE OUT TRYING TOO HARD TO BE THE WINNER."

          3             DO YOU SEE THAT?

          4   A.  I DO.

          5   Q.  NOW, DOES YOUR DEFINITION RULE OUT TRYING TO BE TOO HARD

          6   TO BE THE WINNER IN A "WINNER-TAKE-ALL" MARKET OR A MARKET

          7   CHARACTERIZED AS "WINNER-TAKE-ALL," SIR?

          8   A.  NO.  LET ME MAKE IT CLEAR.  THE DEFINITION WE'RE TALKING

          9   ABOUT IS A DEFINITION OF PREDATORY BEHAVIOR, AND NOT JUST MY

         10   DEFINITION; IT'S A FAIRLY COMMON DEFINITION.  NO.  IT

         11   DOESN'T DO THAT AT ALL.  I DON'T THINK DEAN SCHMALENSEE HAS

         12   UNDERSTOOD THIS ISSUE.

         13   Q.  WHAT RELEVANCE IS IT TO YOUR ANALYSIS WHETHER OR NOT THE

         14   P.C. OPERATING SYSTEM MARKET BE CHARACTERIZED AS A

         15   "WINNER-TAKE-ALL" MARKET OR NOT?

         16   A.  WELL, IT MAKES IT INTERESTING.  AND IT MAKES IT

         17   INTERESTING LARGELY BECAUSE THAT'S A SITUATION THAT IS

         18   DIFFERENT FROM MOST MARKETS.  IF IT IS TRUE THAT IT'S A,

         19   QUOTE, "WINNER-TAKE-ALL" MARKET -- AND THERE ARE REASONS,

         20   SERIOUS REASONS FOR BELIEVING THAT THAT IS TRUE -- THEN WHAT

         21   IT SAYS IS THAT NO MATTER WHAT YOU DO, SOONER OR LATER, YOU

         22   ARE GOING TO HAVE A SINGLE FIRM WHO IS THE WINNER, AND THAT

         23   FIRM WILL END UP HAVING MONOPOLY POWER.

         24             THAT FACT IS, IF IT IS A FACT, IS INTERESTING.  IT

         25   IT IS NOT FUNDAMENTALLY WHAT THIS CASE IS ABOUT, ALTHOUGH IT
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          1   IS FUNDAMENTAL TO THE UNDERSTANDING OF WHAT THIS CASE IS

          2   ABOUT.

          3             THE ISSUE IS NOT WHETHER SUCH -- SO MUCH WHETHER

          4   SUCH A FIRM HAS MONOPOLY POWER AND HOW IT ATTAINED IT

          5   THROUGH THE FACT THAT IT'S IN A "WINNER-TAKE-ALL" INDUSTRY,

          6   BUT WHETHER -- WHAT THAT FIRM IS THEN PERMITTED TO DO IN

          7   ORDER TO PROTECT ITS MONOPOLY POWER AND BE SURE THAT IT

          8   CONTINUES TO BE THE WINNER THAT TAKES ALL.  AND THIS CASE IS

          9   ABOUT ACTIONS THAT MICROSOFT TOOK THAT WERE NOT MERELY

         10   TAKING ADVANTAGE OF THE FACT THAT -- WINNING IN A

         11   "WINNER-TAKE-ALL" COMPETITION.

         12             NOW, IN SOME PURE SENSE, ONE MIGHT SAY -- SUPPOSE

         13   THAT YOU HAD A MARKET IN WHICH ALL THE FIRMS WERE THE SAME.

         14   THERE WASN'T INNOVATIVE COMPETITION; THERE WASN'T

         15   INNOVATION, IN FACT.

         16   Q.  THERE WAS NOT, YOU SAY?

         17   A.  YES.  THAT'S NOT THIS CASE.  AND SUPPOSE IT'S THE CASE

         18   THAT THERE COULD ONLY BE ONE FIRM AND THE COMPETITION WERE

         19   THEN TO TAKE PLACE FOR WHO WAS GOING TO BE THE FIRM, BUT

         20   THAT ONCE THE FIRM WAS IN PLACE, THE WORLD WOULD BE THE SAME

         21   AS IF ANY OTHER FIRM WAS IN PLACE.

         22             THAT AT LEAST RAISES THE QUESTION OF WHETHER YOU

         23   CARE ABOUT THE KIND OF COMPETITION THAT TAKES PLACE.  I

         24   THINK YOU SHOULD.  BUT IT'S EVEN CLEARER THAT YOU SHOULD

         25   CARE A LOT ABOUT THE KIND OF COMPETITION THAT TAKES PLACE
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          1   WHEN THE QUESTION OF WHO BECOMES THE WINNER OR WHO STAYS THE

          2   WINNER HAS TO DO WITH WHAT KIND OF PRODUCTS THEY OFFER AND

          3   ARE THEY ABLE TO PLEASE CONSUMERS MORE AND SO ON.

          4             THE ECONOMICS OF COMPETITION, AND I THINK THE

          5   ECONOMICS ON WHICH THE ANTITRUST POLICY RESTS, ARE A

          6   PRESUMPTION THAT COMPETITION ENDS UP BEING GOOD FOR

          7   CONSUMERS AND THAT PRESUMPTION IS WELL-FOUNDED IN ECONOMIC

          8   ANALYSIS.  AND I THINK IT IS A BIG MISTAKE TO SUPPOSE, AS I

          9   THINK PROFESSOR SCHMALENSEE DOES, THAT BECAUSE THERE IS

         10   SOMEHOW ONLY GOING TO BE ONE WINNER, THAT YOU SHOULD BE

         11   PERMITTED TO DO ANYTHING YOU WANT IN ORDER TO GET TO THAT

         12   POSITION.

         13   Q.  I WANT TO FOCUS SEPARATELY ON TWO OR THREE OF THE THINGS

         14   YOU SAID IN THAT ANSWER.

         15             FIRST, WITH RESPECT TO WHAT FIRMS SHOULD BE ABLE

         16   TO DO IN ORDER TO BECOME THE WINNER IN A "WINNER-TAKE-ALL"

         17   OR "WINNER-TAKE-MOST" MARKET -- AND I TAKE IT WHAT YOU'RE

         18   SAYING IS THAT, EVEN IN THOSE MARKETS, THERE ARE VALID

         19   ECONOMIC REASONS FOR HAVING CERTAIN LIMITATIONS ON WHAT KIND

         20   OF CONDUCT THE FIRM CAN OR CANNOT ENGAGE IN.

         21   A.  I BELIEVE SO.

         22   Q.  NOW, SECOND, YOU WERE SAYING -- AND THIS IS WHAT I WANT

         23   TO PURSUE -- THAT ONCE A FIRM HAS BECOME A WINNER, THERE ARE

         24   ALSO REASONS WHY YOU WANT TO LIMIT WHAT A FIRM CAN DO TO

         25   PRESERVE THAT POSITION.  AND COULD YOU EXPLAIN WHY THAT IS
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          1   SO?

          2   A.  YES.  SUPPOSE THAT A FIRM HAS BECOME THE WINNER BY

          3   PRODUCING A SUPERIOR PRODUCT.  AND BECAUSE THERE ARE

          4   ECONOMIES OF SCALE, LET US SAY, THERE CAN ONLY BE ONE FIRM

          5   AND THIS FIRM IS IT BECAUSE THIS FIRM PRODUCED THE PRODUCT

          6   MOST CHEAPLY.  OKAY.

          7             SO LONG AS IT DID THAT -- I AM GOING TO ASSUME

          8   THAT IT GOT THERE BY PRODUCING THE PRODUCT CHEAPLY AND

          9   PASSING THE EFFICIENCIES ON TO CONSUMERS, AND THERE IS NO

         10   QUESTION THAT IT PRICED BELOW COST DURING THIS PERIOD OR

         11   WHATEVER.  SO IT'S THERE -- IT GOT THERE IN AN APPROPRIATE

         12   MANNER, COMPETING ON THE MERITS.

         13             THERE NOW APPEARS SOME THREAT.  THERE IS NO POINT

         14   IN CONSIDERING A THREAT WHICH WILL GO AWAY IF THE FIRM JUST

         15   CONTINUES TO COMPETE ON THE MERITS.  THERE WOULDN'T BE

         16   ANYTHING WRONG WITH THAT.  SO ONE NEEDS TO SUPPOSE THAT

         17   THERE IS A THREAT WHICH CHALLENGES THE WINNER IN A WAY

         18   THAT -- THE PREVIOUS WINNER IN A WAY THAT THE PREVIOUS

         19   WINNER FINDS IT NECESSARY TO RESPOND TO, OTHER THAN BY

         20   COMPETING ON THE MERITS.

         21             ONE CAN IMAGINE THE INVENTION OF A NEW WAY OF

         22   DOING THINGS THAT'S CHEAPER THAN THE PREVIOUS WINNER'S OLD

         23   WAY.  IN THIS CASE, ONE CAN IMAGINE PARADIGM SHIFTS THAT

         24   MIGHT LEAD TO THE BREAKDOWN OF A BARRIER TO ENTRY.

         25             IN THAT CIRCUMSTANCE, THERE IS NOTHING WRONG WITH
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          1   THE PREEXISTING WINNER CONTINUING TO COMPETE ON THE MERITS,

          2   BUT IT'S CERTAINLY NOT AN APPROPRIATE POLICY TO PERMIT THE

          3   PREVIOUS WINNER, JUST BECAUSE HE IS THE PREVIOUS WINNER OR

          4   JUST BECAUSE THERE IS ONLY GOING TO BE ONE, TO COMPETE BY

          5   TAKING ACTIONS WHICH ARE NOT PROFITABLE IN THEMSELVES, BUT

          6   ARE ONLY PROFITABLE BECAUSE OF THE MONOPOLY RENTS WHICH CAN

          7   CONTINUE TO BE GARNERED WHEN THE THREAT IS MADE TO

          8   DISAPPEAR.

          9   Q.  NOW, YOU'VE REFERRED IN THAT LAST ANSWER TO A QUESTION

         10   OF WHETHER SOMETHING IS PROFITABLE OR NOT.  AND IN THAT

         11   CONNECTION, I AM GOING TO ASK YOU TO LOOK AT PARAGRAPH 569

         12   WHERE DEAN SCHMALENSEE TALKS ABOUT YOUR PRICING ANALYSIS AND

         13   PARTICULARLY DOES SO IN THE CONTEXT OF WHAT HE DESCRIBES AS

         14   HIS UNDERSTANDING OF A SUPREME COURT CASE, THE BROOKE GROUP

         15   CASE.

         16             FIRST, IN THE FIRST BULLET POINT, HE DISTINGUISHES

         17   A TEST IN WHICH IT IS SAID THAT A PLAINTIFF "MUST PROVE THAT

         18   PRICES COMPLAINED OF ARE BELOW AN APPROPRIATE MEASURE OF ITS

         19   RIVAL'S COSTS."

         20             DO YOU SEE THAT?

         21   A.  I DO.

         22   Q.  AND HE DISTINGUISHES THAT WITH WHAT HE SAYS YOU DO -- HE

         23   SAYS, "PROFESSOR FISHER REPLACES THIS WITH THE MUCH VAGUER

         24   AND MORE PROBLEMATIC REQUIREMENT THAT AN ACT `NOT BE

         25   PROFITABLE.'  IT IS UNCLEAR WHETHER THIS MEANS `NOT
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          1   PROFIT-MAXIMIZING', AS SOME OF FISHER'S TESTIMONY SUGGESTS,

          2   OR `NOT YIELDING POSITIVE ECONOMIC PROFIT' OR SOMETHING ELSE

          3   ENTIRELY.  PROFESSOR FISHER NEVER EXPLAINS HOW WHATEVER

          4   STANDARD HE HAS IN MIND IS TO BE MADE OPERATIONAL."

          5             DO YOU AGREE WITH THAT, SIR?

          6   A.  WELL, NO.  I THINK IT'S REASONABLY CONFUSED.

          7             LET ME -- AND THERE ARE A COUPLE OF PIECES IN THIS

          8   WHICH I WOULD LIKE TO TAKE ONE AT A TIME.  LET'S START THIS

          9   WITH THE "PROFESSOR FISHER REPLACES THIS WITH A MUCH VAGUER

         10   AND MORE PROBLEMATIC REQUIREMENT THAT AN ACT `NOT BE

         11   PROFITABLE.'"  AND I WILL GET TO THE PROFIT-MAXIMIZING --

         12   PROFITABLE PART A BIT LATER.

         13             THE FUNDAMENTAL DEFINITION OF PREDATORY IS AN ACT

         14   WHICH IS NOT PROFITABLE AND IS UNDERTAKEN ONLY BECAUSE OF

         15   THE RETURNS THAT A -- THAT YOU CAN GET -- THE MONOPOLY

         16   RETURNS THAT YOU CAN GET BY SUPPRESSING COMPETITION.  NOW,

         17   IN ORDER -- COURTS HAVE WANTED TO, AND QUITE APPROPRIATELY

         18   SO, CREATE A TEST FOR WHEN SOMETHING CAN BE SHOWN TO BE NOT

         19   PROFITABLE BECAUSE THAT ISN'T ALWAYS EASY, ALTHOUGH I THINK

         20   IT IS EASY IN THIS CASE.  AND, THEREFORE, THERE HAS BEEN A

         21   FOCUS ON BELOW-COST PRICING.  THAT WOULD BE HERE "THE PRICES

         22   COMPLAINED OF ARE BELOW AN APPROPRIATE MEASURE OF ITS

         23   RIVAL'S COST."

         24             IF YOU GO BACK TO THE FAMOUS ARTICLE BY AREEDA AND

         25   TURNER IN THE 1970'S, WHAT THEY DO IS TO SAY, IN THE CONTEXT
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          1   OF A STANDARD TEXTBOOK EXAMPLE OF A SINGLE PRODUCT

          2   MANUFACTURING FIRM, "WE'D LIKE TO KNOW WHEN PRICING IS

          3   UNPROFITABLE -- ACTUALLY, WE'D LIKE TO KNOW WHETHER PRICES

          4   ARE BELOW MARGINAL COST.  THAT'S HARD TO MEASURE, SO WE'LL

          5   SETTLE FOR PRICES BELOW VARIABLE COSTS AND SO FORTH."  AND

          6   IN THAT CONTEXT, THAT'S A PERFECTLY APPROPRIATE TEST.  BUT

          7   THE TEST OF BELOW-COST PRICING IS A WAY OF DISCOVERING --

          8   NOT NECESSARILY THE ONLY WAY, BUT OFTEN A GOOD WAY -- A WAY

          9   OF DISCOVERING WHETHER SOMETHING IS NOT PROFITABLE.

         10             IT'S NOT THAT ONE IS INTERESTED DIRECTLY IN

         11   WHETHER PRICES ARE BELOW COST.  ONE IS INTERESTED DIRECTLY

         12   IN WHETHER PRICING IS SUCH THAT IT CANNOT BE THOUGHT TO BE

         13   PROFITABLE, AND, MORE GENERALLY, WHETHER ACTS ARE SUCH THAT

         14   THEY CANNOT BE THOUGHT TO BE PROFITABLE.  AND IN SOME

         15   CONTEXTS -- MANY CONTEXTS -- LOOKING AT BELOW-COST PRICING

         16   IS IT.

         17             SO I DON'T -- REPLACING IT WITH MORE PROBLEMATIC

         18   REQUIREMENT; I AM NOT REPLACING IT IN SOME SENSE AT ALL.  I

         19   AM JUST OBSERVING THAT BELOW-COST PRICING IS A SPECIAL CASE

         20   OF NOT PROFITABLE.

         21             NOW, THE NEXT PART HAS TO DO WITH THE NOT

         22   PROFIT-MAXIMIZING, OR NOT YIELDING A POSITIVE ECONOMIC

         23   PROFIT OR SOMETHING ELSE ENTIRELY.  I AM, OF COURSE, QUOTING

         24   HERE DEAN SCHMALENSEE.  AND LET ME SAY IT ONCE -- ALTHOUGH I

         25   AM PREPARED TO DISCUSS THIS -- IN THE PRESENT CASE -- THIS
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          1   DOESN'T MATTER AT ALL BECAUSE IN THE PRESENT CASE NOT ONLY

          2   DID MICROSOFT TAKE ACTIONS THAT WERE NOT PROFIT-MAXIMIZING.

          3   THEY TOOK ACTIONS THAT WERE SIMPLY NOT PROFITABLE AT ALL ON

          4   ANY STANDARD.

          5             BUT LET ME -- SINCE IT'S COME UP, LET ME GO INTO

          6   THIS.  A PREDATORY ACT, OR AN ANTI-COMPETITIVE ACT, I SHOULD

          7   SAY, IS AN ACT THAT DOESN'T MAKE SENSE EXCEPT BECAUSE OF THE

          8   MONOPOLY RENTS TO BE EARNED WHEN COMPETITION IS DRIVEN OUT

          9   OR HAMPERED.  AND NOW THE QUESTION IS, WHAT DOES IT MEAN, AN

         10   ACT THAT DOESN'T MAKE SENSE?

         11             WELL, ONE VERSION IS IT'S JUST A DELIBERATE

         12   MONEY-LOSER.  A SECOND VERSION SAYS, WELL, YOU DON'T CHARGE

         13   THE PRICE YOU COULD HAVE CHARGED.  YOU DON'T EARN ALL THE

         14   PROFITS YOU COULD HAVE CHARGED.  IF IT WASN'T FOR THE

         15   POSSIBILITY OF DESTROYING COMPETITION AND EARNING MONOPOLY

         16   RENTS, YOU WOULD HAVE CHARGED A HIGHER PRICE AND EARNED

         17   HIGHER PROFITS.

         18             YOU NOW CHOOSE A LOWER PRICE, A

         19   NON-PROFIT-MAXIMIZING ACTION, AND YOU GIVE UP SOME OF THE

         20   MONEY YOU COULD OTHERWISE HAVE EARNED.  THAT WOULD BE A "NOT

         21   PROFIT-MAXIMIZING" VERSION.

         22             ACTUALLY, A SERIOUSLY DEEP UNDERSTANDING OF --

         23   WELL, I CAN'T HELP IT -- OF ECONOMICS LEADS TO THE VIEW THAT

         24   THESE ARE, IN FACT, THE SAME THING PROPERLY CONSIDERED.

         25             SOMEONE WHO FAILS TO CHARGE A PROFIT-MAXIMIZING
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          1   PRICE AND EARNS FEWER PROFITS THAN IT COULD HAVE DONE, THAT

          2   SOMEONE IS INCURRING WHAT'S CALLED AN OPPORTUNITY COST,

          3   NAMELY, GIVING UP THE OPPORTUNITY TO EARN THE PROFITS THAT

          4   IT COULD HAVE EARNED.

          5             OPPORTUNITY COSTS ARE VERY REAL COSTS -- IF YOU

          6   WANT, I CAN GIVE YOU AN EXAMPLE IN ANOTHER CONTEXT -- AND IF

          7   YOU ATTRIBUTE THE UNEARNED PROFITS -- IF YOU ATTRIBUTE THAT

          8   AS AN OPPORTUNITY COST AND COMPARE IT WITH THE RETURNS THAT

          9   COME IN, THEN NOT PROFIT-MAXIMIZING BECOMES THE SAME AS NOT

         10   PROFITABLE.  COUNTING THAT AS A COST, REVENUES WILL, IN

         11   FACT, BE BELOW COST.  THAT IS NOT TO SAY THAT THIS IS

         12   NECESSARILY EASY TO DO.  IN THIS CASE, I THINK IT'S

         13   EXTREMELY EASY TO DO, BUT IT ISN'T ALWAYS.

         14   Q.  IN THE PRESENT CASE, DEALING WITH MICROSOFT'S CONDUCT,

         15   DOES IT MAKE A DIFFERENCE WHICH OF THESE TESTS OF PREDATION

         16   YOU USE?

         17   A.  NO.

         18   Q.  WHY IS THAT?

         19   A.  MICROSOFT GAVE AWAY INTERNET EXPLORER.  IT WAS TO BE

         20   FOREVER FREE.  MICROSOFT'S DOCUMENTS DESCRIBE IT CORRECTLY

         21   AS "THIS IS A NO-REVENUE PRODUCT."

         22             NOW, THIS WAS A PRODUCT WHICH MICROSOFT NOT ONLY

         23   GAVE AWAY FOR FREE, BUT BASICALLY BRIBED PEOPLE TO TAKE.

         24   THEY GAVE THEM PREFERRED PLACES ON THE DESKTOP FOR WHICH

         25   THEY COULD HAVE CHARGED.  BUT BEYOND THAT, THEY ALSO SPENT
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          1   HUNDREDS OF MILLIONS OF DOLLARS ON THE DEVELOPMENT OF THIS

          2   NO-REVENUE PRODUCT, AND THEN THEY GAVE AWAY THE TECHNOLOGY.

          3             THAT IS NOT A PROFITABLE ACT, EXCEPT FOR THE

          4   PROTECTION OF THE OPERATING SYSTEM'S MONOPOLY.  IT'S ALSO

          5   NOT A PROFIT-MAXIMIZING ACT, BUT IN THIS CASE IT DOESN'T

          6   MATTER WHICH.

          7   Q.  IN TERMS OF YOUR ANALYSIS, HAVE YOU ATTEMPTED TO CONFIRM

          8   YOUR ANALYSIS BY LOOKING AT MICROSOFT'S CONTEMPORANEOUS

          9   DOCUMENTS AND RECORDS THAT EXPLAIN WHY IT TOOK THE

         10   PARTICULAR ACTIONS THAT IT TOOK?

         11   A.  YES.

         12   Q.  AND HOW IS THAT RELEVANT, IF AT ALL?

         13   A.  MICROSOFT'S DOCUMENTS DO NOT SAY, "WE'RE DOING THIS WITH

         14   INTERNET EXPLORER BECAUSE INTERNET EXPLORER IS GOING TO

         15   BRING IN A LOT OF MONEY."  IN FACT, CONTEMPORANEOUS

         16   DOCUMENTS DO NOT SUGGEST THAT MICROSOFT CARED AT ALL

         17   ABOUT -- AND SOME OF ITS ACTIONS ALSO CONFIRM THIS -- THAT

         18   MICROSOFT CARED AT ALL ABOUT THE ANCILLARY REVENUES THAT

         19   MIGHT DERIVE FROM GIVING AWAY INTERNET EXPLORER.  INSTEAD OF

         20   WHICH, MICROSOFT'S DOCUMENTS ARE FULL OF STATEMENTS -- THE

         21   ONE I QUOTED A MOMENT AGO -- "THIS IS A NO-REVENUE PRODUCT,

         22   BUT YOU SHOULD CARE ABOUT IT JUST AS MUCH AS DOES BILL

         23   GATES.  WITHOUT WINNING THE BROWSER WAR, WE LOSE" -- I

         24   FORGET WHAT IT IS -- "WE LOSE WINDOWS AND OFFICE."  SOME

         25   SUCH LANGUAGE.
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          1   Q.  LET ME TURN TO THE QUESTION OF THE BROWSER, PROFESSOR

          2   FISHER, AND THE WAYS THAT MICROSOFT OFFERED THE BROWSER.

          3   YOU HAVE TESTIFIED IN YOUR DIRECT TESTIMONY THAT MICROSOFT

          4   ENGAGED IN ANTI-COMPETITIVE CONDUCT AS A RESULT OF THE WAY

          5   THAT MICROSOFT MADE ITS BROWSER AVAILABLE, OR MAYBE MORE

          6   ACCURATELY, THE WAYS IT DID NOT MAKE ITS BROWSER AVAILABLE,

          7   SEPARATE FROM THE OPERATING SYSTEM; IS THAT CORRECT?

          8   A.  YES.

          9   Q.  WOULD YOU EXPLAIN BRIEFLY WHY YOU FIND THAT TO BE

         10   ANTI-COMPETITIVE?

         11   A.  OKAY.  WE'RE TALKING HERE JUST ABOUT MAKING IT AVAILABLE

         12   SO THAT -- IN THE SENSE THAT YOU CAN'T GET AN OPERATING

         13   SYSTEM WITHOUT THE BROWSER.

         14   Q.  YES.  I WANT TO LIMIT IT TO JUST THAT ASPECT OF IT TO

         15   START WITH.

         16   A.  OKAY.  WELL, THE RIGHT QUESTION TO ASK HERE OR ONE OF

         17   THE RIGHT QUESTIONS TO ASK HERE IS, WOULD IT HAVE BEEN --

         18   PUT ASIDE THE EFFECTS ON COMPETITION.  LET'S PUT ASIDE THE

         19   QUESTION OF PROTECTING THE OPERATING SYSTEM MONOPOLY AND

         20   ASK, IS THAT A PROFITABLE WAY TO OFFER THE BROWSER?  AND THE

         21   ANSWER, I THINK, TURNS OUT TO BE "NO."

         22             THERE ARE CUSTOMERS WHO DON'T WANT A BROWSER.

         23   THERE ARE CUSTOMERS WHO MIGHT HAVE BEEN WILLING TO PAY --

         24   WHO WOULD HAVE BEEN WILLING TO PAY FOR THE BROWSER

         25   SEPARATELY.
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          1             THERE APPEARS TO BE NO PARTICULAR REASON WHY

          2   MICROSOFT COULD NOT HAVE OFFERED ITS BROWSER, BOTH TOGETHER

          3   WITH THE OPERATING SYSTEM AND SEPARATELY, AND OFFERED THE

          4   OPERATING SYSTEM SEPARATELY, ALL OF THESE THINGS AT

          5   DIFFERENT CHARGES.  AND BECAUSE CONSUMERS WANTED IT, THAT

          6   WOULD HAVE BEEN A PROFITABLE THING TO DO.

          7   Q.  NOW, THERE HAS BEEN TESTIMONY -- AND DEAN SCHMALENSEE

          8   REFERENCES SOME OF THIS -- THAT SAYS THAT IT IS AN ADVANTAGE

          9   TO CONSUMERS TO HAVE CONSUMERS HAVE AN OPPORTUNITY TO HAVE A

         10   BROWSER INTEGRATED WITH THE OPERATING SYSTEM.  DOES THAT

         11   AFFECT YOUR ANALYSIS?

         12   A.  WELL, IN THE FIRST PLACE, I DO BELIEVE THAT IT IS AN

         13   ADVANTAGE TO CONSUMERS TO BE ABLE TO HAVE A BROWSER WITH

         14   THEIR OPERATING SYSTEM.  THAT'S NOT EXACTLY WHAT YOU ASKED.

         15   CONSUMERS -- IT WAS MADE MUCH MORE DIFFICULT FOR CONSUMERS

         16   TO HAVE A DIFFERENT BROWSER.

         17             SECONDLY, THERE IS SUBSTANTIAL TESTIMONY FROM

         18   MICROSOFT WITNESSES IN THE COUPLE OF MONTHS AFTER I WAS HERE

         19   LAST THAT SAID THAT THE ADVANTAGES TO CONSUMERS FROM THE

         20   COMBINATION OF WINDOWS 98 AND IE WERE JUST AS SUBSTANTIAL --

         21   COULD BE ACHIEVED JUST AS SUBSTANTIALLY AS IN HAVING

         22   WINDOWS 95 AND IE SEPARATELY WITHOUT THE TWO OF THEM BEING,

         23   SO TO SPEAK, SO TIGHTLY WELDED AS THEY ARE IN WINDOWS 98.

         24   Q.  LET ME ASK YOU TO LOOK AT SOME TESTIMONY THAT

         25   MR. ALLCHIN GAVE ON FEBRUARY 1, 1999 TO SEE IF THIS IS PART
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          1   OF WHAT YOU'RE REFERRING TO.

          2             MR. LACOVARA:  YOUR HONOR, IF THE INTENTION IS TO

          3   PLAY A VIDEO, I AM GOING TO OBJECT.  THE PRACTICE HAS BEEN

          4   THAT IF THE PARTY INTENDED TO PRODUCE VIDEOTAPE TESTIMONY IN

          5   THE COURSE OF EXAMINATION OF A WITNESS, THE OTHER SIDE WAS

          6   ENTITLED TO NOTICE AND AN OPPORTUNITY TO MAKE RULE 106

          7   DESIGNATIONS.

          8             MR. BOIES:  YOUR HONOR, TO MY KNOWLEDGE, NONE OF

          9   THIS TRIAL TESTIMONY HAS BEEN VIDEOTAPED.

         10             MR. LACOVARA:  I APOLOGIZE.  I THOUGHT IT WAS

         11   DEPOSITION TESTIMONY, YOUR HONOR.  I WITHDRAW THE OBJECTION.

         12             THE WITNESS:  A GOOD THING, TOO.  I MEAN, THAT IT

         13   HASN'T BEEN VIDEOTAPED.

         14   BY MR. BOIES:

         15   Q.  LET ME DIRECT YOUR ATTENTION TO THE FEBRUARY 1, 1999

         16   AFTERNOON SESSION, IN PARTICULAR BEGINNING ON PAGE 45.  AND

         17   THIS IS PART OF A SERIES OF QUESTIONS AND ANSWERS IN WHICH I

         18   WAS ASKING A QUESTION WITH SOME REPETITIVENESS.  AND THE

         19   QUESTION WAS, "AND YOU AGREE THAT YOU CAN GET THOSE BENEFITS

         20   EITHER BY BUYING WINDOWS 98 OR BY HAVING PURCHASED AN

         21   ORIGINAL RETAIL VERSION OF WINDOWS 95 TO WHICH YOU ADDED

         22   IE 4, EITHER DOWNLOADED OR BOUGHT FROM RETAIL OR GOTTEN IN

         23   SOME OTHER WAY; CORRECT?

         24             "ANSWER:  I DO."

         25             NOW, WHAT SIGNIFICANCE, IF ANY, DOES THAT
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          1   TESTIMONY HAVE, PROFESSOR FISHER?

          2   A.  WELL, WHAT IT SAYS IS THAT YOU DO NOT, IN FACT -- THE

          3   CONSUMER BENEFITS, SUCH AS THEY ARE, THAT COME WITH THE

          4   INTEGRATION, THE WELDING, THE SELLING TOGETHER, THE BUNDLING

          5   OF IE -- IN THIS CASE IE 4 AND WINDOWS OPERATING SYSTEM --

          6   DON'T REQUIRE ANY OF THOSE ACTIONS.  THE CONSUMER GETS THE

          7   SAME BENEFITS IF IT ACQUIRES THE -- IF THE CONSUMER ACQUIRES

          8   THOSE TWO THINGS SEPARATELY.

          9             IN THAT EVENT, THERE IS NO REASON WHY MICROSOFT

         10   SHOULDN'T OFFER THEM TYPICALLY SEPARATELY THROUGHOUT AND LET

         11   CONSUMERS DECIDE, IF THOSE ARE REALLY GOOD BENEFITS, THAT

         12   THEY WANT TO ACQUIRE THEM.

         13   Q.  LET ME ASK YOU TO TURN NEXT TO PAGE 35 OF THE TRANSCRIPT

         14   OF THE SAME SESSION, AND LINES 10 THROUGH 13.

         15             "QUESTION:  AND IT WAS ENTIRELY PRACTICAL FOR YOU

         16   TO DELIVER THESE TWO PIECES OF FUNCTIONALITY, IF THAT'S WHAT

         17   YOU WANT TO CALL THEM, SEPARATELY; CORRECT, SIR?

         18             "ANSWER:  YES.  THAT'S THE WAY WE DO DEVELOPMENT.

         19   WE DEVELOP LOTS OF DIFFERENT PIECES CONCURRENTLY,

         20   SEPARATELY."

         21             WHAT SIGNIFICANCE, IF ANY, DOES THAT HAVE TO YOUR

         22   CONCLUSION?

         23   A.  THAT SUGGESTS EXTREMELY STRONGLY THAT NOT ONLY ARE THERE

         24   NO PARTICULAR CONSUMER BENEFITS FROM GETTING THE THINGS

         25   TOGETHER AS OPPOSED TO GETTING THEM SEPARATELY, BUT THERE
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          1   ARE NO PARTICULAR ADVANTAGES -- I MEAN, ECONOMIC COST

          2   ADVANTAGES TO MICROSOFT FROM DELIVERING THEM TOGETHER, AS

          3   OPPOSED TO DELIVERING THEM SEPARATELY.

          4   Q.  AND ONE MORE SELECTION FROM THIS SESSION WITH

          5   MR. ALLCHIN ON PAGE 39, LINES 18 THROUGH 25.

          6             "QUESTION:  IT'S JUST A DISTRIBUTION VEHICLE,

          7   CORRECT, SIR?

          8             "ANSWER:  IT'S THE SAME CODE OUT OF WINDOWS.

          9             "QUESTION:  IT'S THE SAME CODE AND ALL WE'RE

         10   TALKING ABOUT ARE DIFFERENT DISTRIBUTION VEHICLES, IN YOUR

         11   WORDS; CORRECT, SIR?

         12             ANSWER:  YES.  THAT'S WHAT I SAID, YES."

         13             WHAT SIGNIFICANCE, IF ANY, DOES THAT TESTIMONY

         14   HAVE TO YOUR ANALYSIS?

         15   A.  WELL, BY THE WAY, HE SAYS SIMILAR THINGS FURTHER UP --

         16   JUST BEFORE THIS, FURTHER UP THE PAGE.

         17             WHAT IT SAYS IS, SO TO SPEAK, THE THING THAT

         18   ARRIVES ON THE CONSUMER'S COMPUTER IS THE SAME THING.  THE

         19   QUESTION OF WHETHER IT GETS BUNDLED TOGETHER, PRICED

         20   TOGETHER, AND WELDED TOGETHER IS BASICALLY ONLY THE WAY IN

         21   WHICH IT GETS DELIVERED TO THE CONSUMER.

         22             MR. BOIES:  YOUR HONOR, I AM MOVING TO ANOTHER

         23   SUBJECT.  WOULD THIS BE A CONVENIENT TIME?

         24             THE COURT:  ALL RIGHT.  I THINK THIS WOULD BE AN

         25   APPROPRIATE TIME FOR A MID-MORNING RECESS.
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          1             MR. NEUKOM, WOULD YOU PLEASE APPROACH THE BENCH.

          2   THIS IS OFF THE RECORD.

          3             (MR. NEUKOM AT THE BENCH OFF THE RECORD)

          4             THE COURT:  ALL RIGHT.  WE'LL STAND IN RECESS FOR

          5   TEN MINUTES OR SO.

          6             MR. BOIES:  THANK YOU, YOUR HONOR.

          7             (RECESS WAS TAKEN.)

          8             (AFTER RECESS.)

          9             THE COURT:  MR. BOIES.

         10             MR. BOIES:  THANK YOU, YOUR HONOR.

         11   BY MR. BOIES:

         12   Q.  PROFESSOR FISHER, BEFORE TURNING TO MY NEXT SUBJECT, LET

         13   ME JUST FOLLOW UP ON A COUPLE OF QUESTIONS FROM THIS

         14   MORNING'S TESTIMONY.

         15             IN THE COURSE OF AN ANSWER RELATING TO WHETHER

         16   NETSCAPE OUGHT TO OR OUGHT NOT TO BE INCLUDED IN THE MARKET,

         17   YOU INDICATED THAT IT DIDN'T MATTER TO YOUR ANALYSIS WHETHER

         18   OR NOT NETSCAPE WAS INCLUDED.

         19             I DIDN'T ASK YOU WHY THAT WAS SO, BUT I WOULD LIKE

         20   TO NOW ASK YOU WHY THAT IS SO.

         21   A.  WELL, OF COURSE I THINK IT'S PROPER TO LEAVE THEM OUT OF

         22   THE MARKET BECAUSE I THINK THAT'S THE ONLY WAY THAT MAKES

         23   SENSE, BUT IF YOU MOVE ON TO WHAT THE CASE IS ABOUT, THERE

         24   WERE TWO POSSIBILITIES.  EITHER NETSCAPE IS NOT IN THE

         25   MARKET, BUT PROVIDED A VEHICLE, OR PROVIDED A POTENTIAL
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          1   VEHICLE THROUGH WHICH OTHERS COULD ENTER, AND MICROSOFT TOOK

          2   ANTI-COMPETITIVE ACTIONS TO DESTROY THAT VEHICLE, OR, IF YOU

          3   WANT TO CONSIDER NETSCAPE AS BEING IN THE MARKET, NETSCAPE

          4   WAS IN THE MARKET, IT PROVIDED A POSSIBLE COMPETITIVE THREAT

          5   TO MICROSOFT, AND MICROSOFT TOOK ANTICOMPETITIVE ACTIONS TO

          6   CRUSH ITS COMPETITOR.

          7   Q.  LET ME TURN NOW TO THE DEFINITION OF WHAT A BARRIER TO

          8   ENTRY IS, AND BOTH YOU AND DEAN SCHMALENSEE IN YOUR

          9   TESTIMONY DISCUSSED DEFINITIONS OF BARRIERS TO ENTRY.

         10             AND I'D LIKE TO ASK YOU TO LOOK AT DEAN

         11   SCHMALENSEE'S TESTIMONY AT PARAGRAPH 114 OF HIS WRITTEN

         12   DIRECT TESTIMONY.  AND IN THE LAST LINE HE SAYS:  "FOR

         13   ASSESSING COMPETITION, ECONOMISTS DEFINE AN ENTRY BARRIER AS

         14   A COST OR OBSTACLE THAT DETERS MORE EFFICIENT ENTRY."

         15             DO YOU SEE THAT?

         16   A.  I DO.

         17   Q.  FIRST, DO YOU AGREE WITH THAT DEFINITION?

         18   A.  WELL, THAT IS NOT MY PREFERRED PHRASEOLOGY, BUT IT'S

         19   QUITE CONSISTENT WITH MY DEFINITION.  SO IN THAT SENSE, YES.

         20             I PREFER TO SAY THAT A BARRIER TO ENTRY IS

         21   SOMETHING WHICH PERMITS THE INCUMBENT FIRMS, IF THEY

         22   COLLUDE -- IF THERE IS MORE THAN ONE -- TO EARN SUPERNORMAL

         23   PROFITS WITHOUT INDUCING ENTRY AND HAVING THEIR BUSINESS BID

         24   AWAY.  BUT THAT, IN EFFECT, IS THE SAME THING BECAUSE IF

         25   THERE WERE AN ENTRANT WHO WOULD BE MORE EFFICIENT, THEN A
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          1   BARRIER TO ENTRY IS SOMETHING THAT KEEPS THAT ENTRANT FROM

          2   COMING IN AND PERMITS, THEREFORE, THE INCUMBENT FIRMS TO

          3   EARN SUPERNORMAL PROFITS.

          4   Q.  SECOND, USING THIS DEFINITION, ARE THERE BARRIERS TO

          5   ENTRY IN THE OPERATING SYSTEM MARKET -- IN THE P.C.

          6   OPERATING SYSTEM MARKET?

          7   A.  YES, THERE IS A VERY BIG BARRIER TO ENTRY.

          8   Q.  AND WHAT IS THAT?

          9   A.  THAT'S WHAT'S BEEN CALLED IN THIS TRIAL THE APPLICATIONS

         10   BARRIER TO ENTRY.  WOULD YOU LIKE ME TO REMIND YOU WHAT IT

         11   IS?

         12   Q.  NO.  THAT'S NOT NECESSARY RIGHT NOW.

         13   A.  OKAY.

         14   Q.  WHAT I WOULD LIKE YOU TO DO THOUGH IS TO TELL ME WHY

         15   THAT CONSTITUTES A BARRIER TO ENTRY UNDER BOTH YOUR

         16   DEFINITION AND DEAN SCHMALENSEE'S DEFINITION.

         17   A.  WELL, TO DO THAT, I THINK -- WELL, LET'S START WITH

         18   MINE.  NO, LET'S START WITH DEAN SCHMALENSEE'S VERSION.  AS

         19   I SAID, IT'S NOT A VERSION WITH WHICH I DISAGREE.  IT'S A

         20   DIFFERENT WAY OF STATING THE SAME THOUGHT.  YOU HAVE TO READ

         21   IT SUFFICIENTLY CAREFULLY.

         22             A BARRIER TO ENTRY IS A COURSE OR OBSTACLE THAT

         23   DETERS THE ENTRY BY AN EQUALLY OR MORE EFFICIENT FIRM IN THE

         24   SENSE THAT THAT FIRM WOULD BE EQUALLY OR MORE EFFICIENT ONCE

         25   IT WAS PAST THE BARRIER TO ENTRY AND WAS IN.
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          1             NOW, THE APPLICATIONS BARRIER TO ENTRY KEEPS OUT

          2   ENTRANTS WHO, IF THEY WERE PAST IT AND HAD AN OPERATING

          3   SYSTEM WITH LOTS AND LOTS AND LOTS -- YOU KNOW AS MANY

          4   APPLICATION PROGRAMS WRITTEN FOR IT AS ARE WRITTEN FOR

          5   WINDOWS, WOULD BE JUST AS ATTRACTIVE TO ENTRANTS AND PRODUCE

          6   JUST AS GOOD AN OPERATING SYSTEM.  THE PROBLEM IS THEY CAN'T

          7   GET TO THAT POINT.

          8             IN MY VERSION, A BARRIER TO ENTRY IS SOMETHING

          9   THAT PERMITS THE INCUMBENT FIRMS TO EARN SUPERNORMAL PROFITS

         10   WITHOUT INDUCING ENTRY.

         11             THAT'S TRUE HERE BECAUSE MICROSOFT, THE

         12   BENEFICIARY OF THE APPLICATION BARRIER TO ENTRY, CAN EARN

         13   SUPERNORMAL PROFITS, AND AN ENTRANT WILL NOT BE INDUCED TO

         14   ENTER BECAUSE THE ENTRANT WILL NOT HAVE OR WILL NOT BE ABLE

         15   AT LOW COST -- PERHAPS AT ANY COST, OR ANY FEASIBLE COST --

         16   TO GET THE SAME ADVANTAGE OF THE NETWORK EXTERNALITIES --

         17   GET ALL THE APPLICATIONS WRITTEN FOR THEM.

         18   Q.  LET ME --

         19   A.  LET ME -- THAT MAY HAVE BEEN A LITTLE UNCLEAR.  LET ME

         20   TRY A LITTLE BIT WITH A DIFFERENT EXAMPLE.

         21             SUPPOSE THAT IT IS THE CASE THAT WE'RE TALKING

         22   ABOUT A MANUFACTURING INDUSTRY AND THERE ARE VERY

         23   SUBSTANTIAL ECONOMIES OF SCALE.  AND THE ECONOMIES OF

         24   SCALE -- THAT MEANS IT GETS LESS AND LESS COSTLY TO PRODUCE

         25   AS THE SIZE -- LESS AND LESS COSTLY TO PRODUCE PER UNIT OF
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          1   OUTPUT AS THE AMOUNT OF OUTPUT GETS BIGGER, AND THERE IS AN

          2   INCUMBENT FIRM, AND THAT INCUMBENT FIRM HAS REALIZED THE

          3   ECONOMIES OF SCALE AND COMMITTED A LOT OF INVESTMENT TO

          4   DOING IT, AND THERE ARE NOW SOME COSTS.

          5             AND LET'S ALSO SUPPOSE THAT THE ECONOMIES OF SCALE

          6   ARE SUFFICIENTLY LARGE, RELATIVE TO THE SIZE OF THE MARKET.

          7   FOR PURPOSES OF THIS EXAMPLE, TWO FIRMS CANNOT SURVIVE.

          8             IN THAT CIRCUMSTANCE, ECONOMIES OF SCALE ARE A

          9   BARRIER TO ENTRY.  THEY ARE A BARRIER TO ENTRY EVEN THOUGH A

         10   NEW FIRM ENTERING SMALL WOULD NOT BE, QUOTE, AS EFFICIENT,

         11   UNQUOTE, AS THE INCUMBENT FIRM BECAUSE THAT FIRM, NOT YET

         12   BEING OF SUFFICIENT SIZE, WOULD HAVE HIGHER COSTS.  BUT IT'S

         13   STILL A BARRIER TO ENTRY ON THE ASSUMPTION THAT THAT FIRM,

         14   IF IT WERE IN AND ACHIEVED THE BARRIER -- ACHIEVED THE

         15   ECONOMIES OF SCALE, WOULD BE JUST THE SAME AS THE ORIGINAL

         16   FIRM.  IT WOULD BE EQUALLY EFFICIENT.  PERHAPS IT WOULD EVEN

         17   BE MORE EFFICIENT.

         18             THE PROBLEM IS THAT IN THAT SITUATION, THE NEW

         19   ENTRANT ISN'T GOING TO GO IN IF THERE ARE SUBSTANTIAL COSTS

         20   THAT HAVE BEEN TO BE SUNK BECAUSE IT'S GOING TO HAVE TO

         21   BATTLE THE INCUMBENT AND BECAUSE IT WILL HAVE GIVE UP THESE

         22   HOSTAGES TO FORTUNE.  IT WILL BE QUITE RISKY TO DO SO, AND

         23   IT KNOWS -- BY ASSUMPTION IT KNOWS THAT THERE IS ONLY GOING

         24   TO BE ONLY ONE SURVIVOR, AND THE OTHER FIRM IS ALREADY IN

         25   THERE WITH THOSE ADVANTAGES.
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          1             THAT'S SOMEWHAT SIMILAR.  THAT'S A CIRCUMSTANCE IN

          2   WHICH, IF THE BARRIER HAD BEEN SURPASSED, THE ENTRANT WOULD

          3   BE EQUALLY EFFICIENT.  THE PROBLEM IS THAT THE BARRIER IS

          4   HARD TO SURPASS.

          5   Q.  I WANT TO FOCUS ON WHAT MAY OR MAY NOT BE A NUANCE.  BUT

          6   IN DEAN SCHMALENSEE'S DEFINITION, HE TALKS ABOUT A COST OR

          7   OBSTACLE THAT DETERS MORE EFFICIENT ENTRY, AND YOU HAVE A

          8   COUPLE TIMES IN YOUR TESTIMONY SAID "AN EQUALLY EFFICIENT

          9   FIRM."  IS THERE, IN YOUR MIND, A DISTINCTION BETWEEN THOSE

         10   TWO CONCEPTS?

         11   A.  YES.  ACTUALLY THERE IS, ALTHOUGH I'M NOT SURE IT REALLY

         12   MATTERS A WHOLE LOT.

         13             IF EQUALLY EFFICIENT -- I HAVE A COUPLE OF THINGS

         14   TO SAY ABOUT THIS.  I AM NOT SURE THIS IS GOING TO BE THE

         15   MOST FASCINATING PART OF THE DAY.

         16   Q.  YOU COULD ALWAYS JUST TELL ME THAT IT WAS A MEANINGLESS

         17   NUANCE.

         18   A.  NO, IT'S NOT A MEANINGLESS -- OH, BUT IT'S NOT A

         19   MEANINGLESS NUANCE.  I WOULD BE HAPPY TO TELL YOU THINGS

         20   LIKE THAT, MR. BOIES, BUT IT'S NOT MEANINGLESS.  THE RIGHT

         21   PHRASE IS "EQUALLY EFFICIENT ENTRY."  IF AN EQUALLY

         22   EFFICIENT FIRM WOULD NOT BE DETERRED, THEN IT IS NOT

         23   POSSIBLE FOR THE INCUMBENT FIRM TO EARN SUPERNORMAL PROFITS,

         24   BECAUSE IF IT TRIED TO DO SO, AN EQUALLY EFFICIENT FIRM

         25   WOULD COME IN AND BID THE PROFITS AWAY.
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          1             NOW, DOES IT MATTER?  NOT A WHOLE LOT.  IT'S NOT A

          2   SENSIBLE DEFINITION THAT DETERS MORE EFFICIENT ENTRY -- AND

          3   I AM SURE THIS IS SIMPLY A SLIP ON DEAN SCHMALENSEE'S

          4   PART -- BECAUSE MORE EFFICIENT ENTRY IS A CONTINUOUS THING.

          5   A LOT MORE EFFICIENT?  A LITTLE BIT MORE EFFICIENT?  A

          6   SCINTILLA MORE EFFICIENT?  HOW DO YOU DECIDE THAT IT DETERS

          7   MORE EFFICIENT ENTRY ALL THE WAY UP BUT NOT INCLUDING

          8   EQUALITY AND DOESN'T DETER EQUALITY.  IT'S NOT -- YOU KNOW,

          9   I DON'T KNOW THAT THIS MATTERS -- AS I SAY, MATTERS A WHOLE

         10   LOT -- BUT I THINK THE RIGHT PHRASE IS "EQUALLY EFFICIENT

         11   ENTRY" HERE.

         12   Q.  LET ME ASK YOU TO LOOK NEXT AT PARAGRAPH 132 OF DEAN

         13   SCHMALENSEE'S WRITTEN DIRECT TESTIMONY, WHICH ALSO RELATES

         14   TO THE APPLICATIONS BARRIER TO ENTRY.

         15             HE BEGINS BY SAYING, "PLAINTIFFS' ECONOMISTS

         16   CONTEND THAT THE INSTALLED BASE OF APPLICATIONS WRITTEN FOR

         17   AN OPERATING SYSTEM RESULTS IN AN ENTRY BARRIER, THOUGH THEY

         18   NEVER SHOW THAT IT WOULD BE HARDER OR MORE EXPENSIVE FOR AN

         19   ENTRANT TO PERSUADE ISV'S TO BUILD SUCH A STOCK THAN IT WAS

         20   FOR AN INCUMBENT TO DO EXACTLY THE SAME THING."

         21             FIRST, IS THAT THE RIGHT TEST?

         22   A.  NO, IT REALLY ISN'T.  IT ALSO ISN'T TRUE.  BUT I MEAN --

         23   IT IS HARDER OR MORE EXPENSIVE.

         24   Q.  I AM GOING TO ASK YOU BOTH OF THOSE QUESTIONS.

         25   A.  OKAY.  IT REALLY ISN'T.  THE QUESTION IS, IN THIS
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          1   CIRCUMSTANCE, IS IT TRUE THAT MICROSOFT CAN EARN MONOPOLY

          2   PROFITS WITHOUT INDUCING ENTRY?  AND THAT HAS TO DO WITH THE

          3   COST THAT IT TAKES -- THE COST THAT MICROSOFT INCURS TO

          4   PRESERVE THE STOCK OF APPLICATIONS, NOT THE COST THAT

          5   REQUIRED IT TO BE CREATED IN THE FIRST PLACE.

          6   Q.  THEN SECOND, IS THIS, IN FACT, TRUE?  ASSUMING IT WAS

          7   THE RIGHT STANDARD, WOULD IT BE FACTUALLY ACCURATE WHAT DEAN

          8   SCHMALENSEE SAYS HERE?

          9   A.  IN THE SENSE THAT -- IT'S NOT FACTUALLY ACCURATE IN THE

         10   SENSE THAT THIS IMPLIES THAT HE THINKS THAT IT WOULD NOT BE

         11   HARDER OR MORE EXPENSIVE TO PERSUADE ISV'S TO BUILD SUCH A

         12   STOCK THAN IT WAS FOR, IN THIS CASE, MICROSOFT TO DO THE

         13   SAME THING.

         14             WHEN MICROSOFT WON THE NETWORK BATTLE, WHEN

         15   WINDOWS BECAME THE DOMINANT OPERATING SYSTEM, THERE WERE FAR

         16   FEWER -- WELL, NOT FAR FEWER -- THERE WERE MANY FEWER

         17   P.C.'S, AND THERE WAS NO INCUMBENT OPERATING SYSTEM OF EQUAL

         18   POWER AND IMPORTANCE.  THERE WERE, OF COURSE, OTHER

         19   OPERATING SYSTEMS TO FIGHT AND THERE WERE OTHER OPERATING

         20   SYSTEMS TO, AS IT WERE, OVERCOME.  ONE OF THEM, OF COURSE,

         21   WAS MICROSOFT'S OWN OPERATING SYSTEM, DOS.

         22             THE COST AFTER THE -- AFTER MICROSOFT'S VICTORY,

         23   THE COST OF PERSUADING ISV'S TO BUILD SUCH A STOCK RATHER

         24   THAN WRITE FOR WINDOWS HAS GOT TO BE MUCH MORE SUBSTANTIAL

         25   THAN IT WAS FOR MICROSOFT TO PERSUADE THEM IN THE FIRST
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          1   PLACE.

          2             ONE OF THE REASONS THAT ISV'S WRITE FOR WINDOWS

          3   FIRST OR WRITE FOR THE DOMINANT OPERATING SYSTEM FIRST --

          4   THE PRINCIPAL REASON -- IS THAT THERE ARE ECONOMIES OF SCALE

          5   AND IT PAYS TO WRITE FOR THE SYSTEM THAT HAS THE MOST USERS.

          6             WELL, NOWADAYS, THE NUMBER OF PEOPLE USING

          7   WINDOWS 9X IS VERY, VERY LARGE.  WHEN MICROSOFT WAS WINNING

          8   THE NETWORK BATTLE, THE NUMBER OF PEOPLE USING OTHER

          9   OPERATING SYSTEMS -- ANY OTHER OPERATING SYSTEM -- WAS NOT

         10   NEARLY SO LARGE.  THE ECONOMY OF SCALE EFFECT IS BIGGER NOW.

         11   Q.  ARE MICROSOFT'S HISTORICAL COSTS OF DEVELOPING

         12   APPLICATIONS FOR WINDOWS SOMETHING THAT IS THE RIGHT TEST

         13   FOR DETERMINING WHAT THE COMPARISON IS BETWEEN MICROSOFT'S

         14   COST AND A NEW ENTRANT'S COSTS?

         15             THE COURT:  WOULD YOU ASK THAT AGAIN?

         16             MR. BOIES:  YES, I WILL, YOUR HONOR.

         17   BY MR. BOIES:

         18   Q.  YOU HAVE TALKED ABOUT THE DIFFERENCE BETWEEN WHAT

         19   MICROSOFT WAS DOING WHEN IT WAS BUILDING THE STOCK OF

         20   APPLICATIONS AND WHAT AN INCUMBENT -- AND WHAT A NEW FIRM

         21   WOULD HAVE TO DO TODAY.  YOU HAVE DRAWN THAT DISTINCTION.

         22             IF YOU KNEW WHAT MICROSOFT'S COSTS WERE,

         23   HISTORICALLY, IN TERMS OF WHAT MICROSOFT DID, WHAT

         24   RELEVANCE, IF ANY, WOULD THAT HAVE TO THE BARRIERS TO ENTRY

         25   DISCUSSION?
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          1   A.  WELL, NOT A LOT.  AS I SAID BEFORE, THE QUESTION IS --

          2   MICROSOFT'S COSTS IN THE PAST ARE SUNK.  THE QUESTION IS,

          3   WHETHER, GIVEN THOSE SUNK COSTS, THEY CAN NOW EARN

          4   SUPERNORMAL PROFITS WITHOUT INDUCING ENTRY, AND THAT HAS TO

          5   DO WITH THEIR CURRENT COSTS VERSUS THE COSTS OF AN ENTRANT.

          6             NOW, THAT'S NOT -- THAT'S BASICALLY IT.  IT'S NOT

          7   TOTALLY IT BECAUSE, AT LEAST IN SOME CIRCUMSTANCES, ONE

          8   WOULD WANT TO THINK ABOUT, WELL, ARE THEY REALLY EARNING

          9   SUPERNORMAL PROFITS OR ARE THEY EARNING PROFITS ON THEIR

         10   PAST INVESTMENT?  BUT THERE AGAIN, THE RIGHT QUESTION IS,

         11   ARE THEY EARNING PROFITS SO LARGE THAT YOU WOULD EXPECT AN

         12   EQUALLY EFFICIENT ENTRANT, AS IT WERE, TO COME IN AND

         13   COMPETE FOR THOSE PROFITS?  THAT HAS TO DO LARGELY WITH WHAT

         14   CURRENT COSTS ARE.

         15   Q.  DOES IT MATTER TO YOUR ANALYSIS, OR MAYBE MORE

         16   ACCURATELY, IS IT SUFFICIENT TO OVERCOME THE APPLICATIONS

         17   PROGRAMMING BARRIER TO ENTRY THAT THERE MAY BE SOME ISV'S OR

         18   EVEN MANY ISV'S THAT WILL WRITE TO OPERATING SYSTEMS OTHER

         19   THAN WINDOWS?

         20   A.  NO.

         21   Q.  WHY?

         22   A.  WELL, IN THE FIRST PLACE, YOU HAVE TO ASK UNDER WHAT

         23   CIRCUMSTANCES WILL THEY DO IT.  YOU MIGHT PAY ISV'S TO WRITE

         24   TO YOUR OPERATING SYSTEM.  THAT IN ITSELF IS PART OF THE

         25   BARRIER TO ENTRY, THAT YOU HAVE TO PAY THEM TO TURN AWAY
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          1   FROM WINDOWS.

          2             SECONDLY, WHAT MAKES THE APPLICATIONS BARRIERS TO

          3   ENTRY SO SEVERE IS NOT THE ACTION OF ONE ISV.  IT'S NOT EVEN

          4   THE ACTION OF A LARGE-ISH NUMBER OF ISV'S.  IT'S THE BREADTH

          5   AND DEPTH OF THE NUMEROUS, NUMEROUS APPLICATIONS THAT ARE

          6   WRITTEN FOR WINDOWS THAT PROVIDE THE ASSURANCE TO PEOPLE

          7   BUYING OPERATING SYSTEMS -- TO CORPORATIONS BUYING OPERATING

          8   SYSTEMS -- THAT THE THINGS THEY WANT TO DO ARE GOING TO WORK

          9   WITH WINDOWS.

         10   Q.  LET ME ASK YOU TO LOOK AT --

         11   A.  I DIDN'T SAY OTHER OPERATING SYSTEMS COULDN'T EXIST, YOU

         12   NOTE.  I SAID THEY COULDN'T OVERCOME THE APPLICATIONS

         13   BARRIER.

         14   Q.  YES.  LET ME ASK YOU TO LOOK AT PARAGRAPH 111 OF DEAN

         15   SCHMALENSEE'S WRITTEN DIRECT WHERE HE SAYS, "ISV'S HAVE

         16   STRONG INCENTIVES TO BET ON NEW PLATFORMS RATHER THAN ON

         17   EXISTING ONES."

         18             AND THEN AT THE END OF THAT PARAGRAPH, HE AGAIN

         19   SAYS, "BECAUSE OF THE THESE LARGE POTENTIAL REWARDS, NEW

         20   FIRMS, SMALL FIRMS AND SECOND-TIER ISV'S, IN PARTICULAR,

         21   HAVE STRONG FINANCIAL INCENTIVES TO BET ON PROMISING NEW

         22   PLATFORMS."

         23             DO YOU SEE THAT?

         24   A.  I DO.

         25   Q.  IS THAT AN ANSWER TO THE ISSUE OF WHETHER THERE IS AN
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          1   APPLICATIONS PROGRAMMING BARRIER TO ENTRY?

          2   A.  NOT REALLY.  IT IS A PARTIAL OFFSET.

          3             WHAT HE IS SAYING HERE IS THAT, OF COURSE, THERE

          4   IS A TENDENCY TO WRITE -- FOR THE BIG OPERATING SYSTEM TO

          5   WRITE FOR WINDOWS BECAUSE THEY HAVE SO MANY CUSTOMERS.  BUT

          6   SINCE OTHER PEOPLE WILL BE WRITING FOR WINDOWS, TOO, YOU

          7   MIGHT HAVE A BETTER CHANGE OF SUCCEEDING, ALTHOUGH WITH A

          8   MUCH SMALLER NUMBER OF CUSTOMERS, IF YOU WRITE FOR ANOTHER

          9   OPERATING SYSTEM.  AND TO A CERTAIN EXTENT, THAT IS TRUE.

         10             BUT WE'RE TALKING HERE ABOUT THINGS OF THE FORM --

         11   YOU KNOW, WOULD I LIKE TO HAVE -- BE FAIRLY SURE THAT I CAN

         12   GET 50 PERCENT OF OF A MILLION-DOLLAR PIE, OR WOULD I BE

         13   REALLY INTERESTED IN GETTING 5 PERCENT OF BILLION-DOLLAR

         14   PIE?  UNLESS I HAVE DONE THE MATH WRONG, YOU WOULD RATHER

         15   HAVE THE SECOND.

         16             AND IT'S JUST NOT TRUE THAT ISV'S ARE WRITING IN

         17   THE SAME NUMBERS FOR RELATIVELY NEW SYSTEMS AS THEY WRITE

         18   FOR WINDOWS, NOR WOULD YOU EXPECT THEM TO.

         19   Q.  DOES AN ISV HAVE TO CONSIDER NOT ONLY THE POTENTIAL

         20   REWARD IF THE NEW PLATFORM SUCCEEDS, BUT THE RISK THAT THE

         21   PLATFORM WILL NOT SUCCEED IN A LARGE DEGREE?

         22   A.  INDEED.  CONSIDER THE FOLLOWING.  THERE ARE, LET US

         23   SAY -- I DON'T KNOW HOW MANY ISV'S THERE ARE, BUT LET US SAY

         24   THERE ARE 10,000.  THERE MAY, IN FACT, BE MORE.  AND -- I'LL

         25   MAKE IT 100,000.  IT'S NOT GOING TO MATTER FOR PURPOSES OF
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          1   THIS EXAMPLE.

          2             AND HERE AM I, THE CREATOR OF THE FISHER OPERATING

          3   SYSTEM, AND I WANT TO INDUCE ISV'S TO WRITE TO ME, AND I

          4   SAY -- FOR ME, AND I SAY -- TO THE FIRST ONE, I SAY, "COME

          5   ON AND WRITE FOR ME.  YOU'LL GET IN EARLY AND YOU'LL BE --

          6   WHEN MY PLATFORM IS A SUCCESS, WHEN EVERYBODY WRITES FOR ME,

          7   YOU'LL MAKE A LOT OF MONEY."  AND THE FIRST ONE IS VERY

          8   LIKELY TO SAY, "FINE, COME TALK TO ME AFTER YOU'VE SIGNED UP

          9   THE OTHER 990,000 -- WHATEVER IT IS -- 999."

         10             THERE IS A COLLECTIVE ACTION PROBLEM.  THAT IS, IN

         11   DECIDING TO WRITE FOR A NEW SYSTEM, EACH ISV WILL NOT TAKE

         12   INTO ACCOUNT THE FACT THAT HIS ACTION WILL HAVE SOMETHING TO

         13   DO WITH THE SUCCESS OF -- OR NOT TAKE ENOUGH INTO ACCOUNT

         14   THE FACT THAT HIS ACTION WILL HAVE SOME SUCCESS -- HAVE TO

         15   DO WITH THE -- SOME INFLUENCE ON THE SUCCESS OF THE NEW

         16   OPERATING SYSTEM, BECAUSE HE WON'T REAP ALL THE REWARDS FROM

         17   THAT.  IT TAKES AN AWFUL LOT OF PEOPLE DOING THIS TO MAKE IT

         18   A GO.

         19   Q.  AND AS PART OF YOUR ANALYSIS, HAVE YOU LOOKED AT HOW

         20   PARTICIPANTS IN THE INDUSTRY VIEW THE APPLICATIONS

         21   PROGRAMMING BARRIER TO ENTRY, AND, INDEED, HOW MICROSOFT

         22   VIEWS THAT?

         23   A.  OH, INDEED, YES.  I WAS -- HOW SHOULD I PUT IT?  I HAVE

         24   READ THE TRANSCRIPT OF THE TRIAL SINCE I WAS HERE LAST, AND

         25   I KEPT COMING ACROSS PIECES FROM THE MICROSOFT WITNESSES
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          1   WHICH I MARKED UP AND SAID BASICALLY, "HEY, YOU KNOW, THEY

          2   MAY NOT BE THINKING IN TERMS OF RETURNS TO SCALE AND NETWORK

          3   EXTERNALITIES, BUT WHAT THEY ARE DESCRIBING IS EXACTLY WHAT

          4   THIS OUGHT TO LOOK LIKE TO THE PEOPLE IN THE TRENCHES, SO TO

          5   SPEAK."

          6   Q.  CAN YOU EXPLAIN WHAT YOU MEAN BY THAT A LITTLE BIT?

          7   A.  SURE.  THE ECONOMIST'S EXPLANATION OF THE APPLICATIONS

          8   BARRIER TO ENTRY BEGINS BY SAYING, THERE ARE BIG ECONOMIES

          9   OF SCALE TO SOFTWARE DISTRIBUTION -- I AM SORRY -- SOFTWARE

         10   WRITING.  THAT'S BECAUSE ALL THE COSTS ARE THE UPFRONT COSTS

         11   OF WRITING THE SOFTWARE, AND THE DISTRIBUTION COSTS --

         12   MAKING EXTRA COPIES COSTS ESSENTIALLY ZERO.  AND, THEREFORE,

         13   THERE WILL BE A BIG INCENTIVE TO WRITE FOR THE MOST POPULAR

         14   OPERATING SYSTEM AND WRITE FOR IT FIRST BECAUSE YOU HAVE THE

         15   POSSIBILITY OF LOTS OF SALES, AND THAT MEANS YOUR COSTS PER

         16   SALE WILL BE VERY LOW.

         17             I DON'T EXPECT SOFTWARE WRITERS TO PHRASE IT IN

         18   THOSE TERMS, USING ECONOMIES OF SCALE AND SO FORTH.  THEY

         19   HAVEN'T HAD THE MISFORTUNE TO BE EDUCATED IN ECONOMICS.  BUT

         20   THE TESTIMONY OF MR. DEVLIN FROM RATIONAL SOFTWARE GIVES A

         21   VERY CLEAR DESCRIPTION OF WHAT THIS LOOKS LIKE.  HE SAYS

         22   THINGS LIKE, "I WOULDN'T WANT TO WRITE FOR -- I WOULDN'T

         23   WANT TO WRITE FOR UNIX.  UNIX IS -- I'D HAVE TO WRITE

         24   SEVERAL VERSIONS.  UNIX IS" -- WHAT'S THE WORD I WANT --

         25   "FRACTURED OR SOME SUCH THING."  AND HE DESCRIBES WANTING TO
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          1   WRITE FOR WINDOWS BECAUSE WINDOWS CAN PROMISE HIM ALL THE

          2   CUSTOMERS.  THAT'S WHAT IT LOOKS LIKE TO THE SOFTWARE

          3   DEVELOPER.

          4   Q.  NOW, IN TERMS OF ANTI-COMPETITIVE CONDUCT, IS THERE

          5   ANYTHING ANTI-COMPETITIVE PER SE ABOUT THERE EXISTING AN

          6   APPLICATIONS PROGRAMMING BARRIER TO ENTRY?

          7   A.  WELL, THERE IS -- HOW SHOULD I PUT IT?  IT'S A FACT.  IT

          8   MEANS THAT COMPETITION IN THIS BUSINESS IS GOING TO BE

          9   RESTRICTED BY THAT FACT.

         10             THERE IS NOTHING WRONG WITH MICROSOFT BEING THE

         11   WINNER THAT RESULTS FROM THAT FACT AND HAVING THE POWER THAT

         12   IT DOES THAT RESULTS FROM THAT FACT, SO LONG AS IT DOESN'T

         13   MISUSE THAT POWER OR TAKE ANTI-COMPETITIVE ACTIONS TO

         14   MAINTAIN IT.  IT IS, AS IT WERE, JUST A FACT.

         15   Q.  NOW, IN YOUR ANALYSIS, HAS MICROSOFT TAKEN

         16   ANTI-COMPETITIVE ACTIONS TO MAINTAIN OR PRESERVE THAT FACT

         17   OF THE APPLICATIONS PROGRAMMING BARRIER TO ENTRY?

         18   A.  INDEED, IT HAS.

         19   Q.  AND COULD YOU EXPLAIN, JUST IN GENERAL TERMS, HOW

         20   THEY'VE DONE THAT?

         21   A.  WELL, MICROSOFT SAW SOME POSSIBLE THREATS TO THE

         22   PROGRAMMING -- TO THE APPLICATIONS BARRIER TO ENTRY.  ONE OF

         23   THEM, THE ONE THAT'S TAKEN UP MOST OF THE TIME IN THIS

         24   PROCEEDING, IS THE BROWSER THREAT.  THAT WAS THE POSSIBILITY

         25   THAT BROWSERS WOULD EVENTUALLY GROW TO OFFER AN ALTERNATE
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          1   PLATFORM TO WHICH SOFTWARE DEVELOPERS WOULD WRITE, AND THAT

          2   IF THAT HAPPENED ENOUGH, NOBODY WOULD CARE WHAT OPERATING

          3   SYSTEM WAS RUNNING UNDERNEATH.

          4             NOW, THAT WAS A PARTICULAR THREAT IN A WAY THAT

          5   THE ENTRY OF A NEW OPERATING SYSTEM BY ITSELF WOULD NOT BE,

          6   BECAUSE PEOPLE WANTED BROWSERS FOR DIFFERENT REASONS.

          7   PEOPLE WANTED BROWSERS IN ORDER TO BROWSE, IF I MAY PUT IT

          8   IN A FAIRLY TRIVIAL WAY, AND, THEREFORE, BROWSERS WERE GOING

          9   TO BE VERY POPULAR, AND THIS MIGHT ACTUALLY OCCUR.  WHEREAS

         10   A NEW ENTRANT IN AN OPERATING SYSTEM BUSINESS COMPETING

         11   DIRECTLY, IT'S NOT CLEAR THAT PEOPLE -- IT'S PRETTY CLEAR

         12   THAT PEOPLE WOULDN'T, IN FACT, WANT TO BUY THAT NEW

         13   OPERATING SYSTEM IN GREAT NUMBERS, IN PART BECAUSE OF THE

         14   APPLICATIONS BARRIER TO ENTRY.

         15             TO THWART THIS, MICROSOFT SET OUT TO INSURE THAT

         16   NOBODY ELSE'S BROWSER WOULD EVER REACH THAT STAGE, AND IN

         17   PARTICULAR, THAT NETSCAPE WOULDN'T.  AND THEY DID THIS BY

         18   GIVING AWAY THEIR BROWSER -- IN FACT, GIVING IT AWAY AT A

         19   NEGATIVE PRICE.  THEY DID THIS BY SIGNING VARIOUS

         20   RESTRICTIVE CONTRACTS OR USING THEIR MONOPOLY POWER TO

         21   OBTAIN RESTRICTIVE CONDITIONS FROM ISP'S AND FROM -- FROM OR

         22   ON OEM'S.

         23             NOW, THESE WERE PRACTICES WHICH MAKE NO ECONOMIC

         24   SENSE ON THEIR OWN.  THEY ONLY MAKE SENSE IF ONE CONSIDERS

         25   THE PROTECTION OF THE MONOPOLY.  AS I SAID BEFORE, THEY ARE
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          1   DOING THESE THINGS FOR, QUOTE, A NO-REVENUE PRODUCT, END

          2   QUOTE.

          3   Q.  I WANT TO FOLLOW UP ON THE REFERENCE TO NO-REVENUE

          4   PRODUCT, BUT BEFORE I DO THAT, YOU SAID THAT WHAT MICROSOFT

          5   WAS TRYING TO DO WAS TO PREVENT AN ALTERNATIVE BROWSER FROM

          6   REACHING A PARTICULAR STAGE.  CAN YOU EXPLAIN WHAT YOU MEAN

          7   BY THAT?

          8   A.  WHAT WAS FEARED WAS THAT IF THE NETSCAPE BROWSER BECAME

          9   SUFFICIENTLY WIDESPREAD, THAT IT MIGHT DEVELOP -- THE WORLD

         10   MIGHT DEVELOP IN SUCH A WAY THAT SOFTWARE DEVELOPERS WOULD

         11   WRITE TO THE API'S EXPOSED BY THE BROWSER, AND DO SO IN SUCH

         12   LARGE NUMBERS THAT THAT WOULD BE WHAT BECAME IMPORTANT IN

         13   THE WRITING OF SOFTWARE.

         14             IF THAT WERE TRUE -- IF THAT WERE TO BECOME TRUE,

         15   THEN PEOPLE WOULD CARE WHAT BROWSER THEY HAD -- THERE WOULD

         16   BE AN APPLICATIONS BARRIER THERE -- PEOPLE WOULD CARE WHAT

         17   BROWSER THEY HAD, BUT THEY MIGHT NOT CARE ANY LONGER VERY

         18   MUCH WHAT OPERATING SYSTEM THEY HAD BECAUSE THE APPLICATIONS

         19   THAT THEY REALLY WANTED TO DO WOULD BE CARRIED BY THE

         20   BROWSER.

         21             IN THAT EVENT, THE OPERATING SYSTEM WOULD, TO USE

         22   MICROSOFT'S WORDS, BECOME, QUOTE, COMMODITIZED, END QUOTE.

         23   AND THE MONOPOLY POWER OVER OPERATING SYSTEMS WOULD BE GONE.

         24   Q.  NOW, IN ORDER TO PREVENT THE NETSCAPE BROWSER OR ANOTHER

         25   BROWSER FROM BECOMING, IN YOUR TERMINOLOGY, SUFFICIENTLY
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          1   WIDESPREAD SO THAT IT COULD ERODE THE APPLICATIONS

          2   PROGRAMMING BARRIER TO ENTRY, WAS IT NECESSARY FOR MICROSOFT

          3   TO COMPLETELY DOMINATE THE BROWSER MARKET?

          4   A.  NO.

          5   Q.  WHAT WAS NECESSARY?

          6   A.  IT WAS NECESSARY THAT MICROSOFT ACHIEVE A SUFFICIENTLY

          7   HIGH SHARE ON ITS OWN.  AND HERE I MEAN A SUFFICIENTLY HIGH

          8   SHARE FOR INTERNET EXPLORER AND OTHER BROWSERS THAT USE THE

          9   SAME TECHNOLOGIES, TO WHICH THE -- WHICH WOULD EXPOSE THE

         10   SAME API'S -- TO PREVENT SOFTWARE DEVELOPERS FROM, AS IT

         11   WERE, SITTING UP AND SAYING, "HEY, WAIT A MINUTE.  WE WANT

         12   TO WRITE, FIRST AND FOREMOST, FOR THIS EXTREMELY POPULAR

         13   OTHER BROWSER."  FOR THAT PURPOSE, IT'S NOT NECESSARY TO

         14   DRIVE NETSCAPE TO ZERO.

         15   Q.  NOW, I WANT TO FOLLOW UP ON YOUR REFERENCE TO NO-REVENUE

         16   PRODUCT.  THERE HAS BEEN SOME REFERENCE IN THE TRIAL SINCE

         17   YOU TESTIFIED TO THE POSSIBILITY OF SO-CALLED ANCILLARY

         18   REVENUES FOR BROWSERS.  HAVE YOU SEEN THOSE REFERENCES?

         19   A.  YES.

         20   Q.  DOES THE POSSIBILITY OF ANCILLARY REVENUES AFFECT YOUR

         21   ANALYSIS AS TO WHETHER MICROSOFT'S CONDUCT WITH RESPECT TO

         22   INTERNET EXPLORER WAS OR WAS NOT PREDATORY?

         23   A.  WELL, THE POSSIBILITY OF ANCILLARY REVENUES ARE

         24   SOMETHING ONE HAS TO THINK ABOUT IN THE COURSE OF THE

         25   ANALYSIS.  THEY DON'T AFFECT THE CONCLUSION.
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          1   Q.  WHY NOT?

          2   A.  THERE ARE A COUPLE OF REASONS.  IN THE FIRST PLACE, IN

          3   TERMS OF WHAT MICROSOFT THOUGHT IT WAS DOING -- IF MICROSOFT

          4   WAS DOING THIS STUFF WITH THE BROWSERS BECAUSE OF THE

          5   ANCILLARY REVENUES, YOU WOULD EXPECT THERE TO BE

          6   CONTEMPORANEOUS DOCUMENTS OR BUSINESS PLANS THAT SHOW THAT

          7   THAT'S WHY THEY'RE DOING IT.  THEY WASN'T ANYTHING LIKE

          8   THAT, SO FAR AS I KNOW.

          9             SECOND, MICROSOFT, IN DOING WHAT IT DOES WITH ITS

         10   BROWSER, FROM TIME TO TIME TOOK ACTIONS WHICH, IN FACT, GAVE

         11   UP PART OF THE ANCILLARY REVENUES.  THEY PERMITTED OLS'S,

         12   FOR INSTANCE -- SOME OF THE ANCILLARY REVENUES COME BECAUSE

         13   IF YOU CAN -- IF, WHEN PEOPLE TURN ON THEIR BROWSER, THEY GO

         14   TO A PARTICULAR PAGE, MICROSOFT'S PAGE, THEN MICROSOFT CAN

         15   GET PAID FOR ADVERTISING ON THAT PAGE.

         16             MICROSOFT, FROM TIME TO TIME, HAS PERMITTED OLS'S

         17   TO TAKE THEIR SUBSCRIBERS DIRECTLY TO THE OLS'S HOME PAGE

         18   AND NOT TO THE MICROSOFT HOME PAGE.  THAT GIVES UP SOME OF

         19   THE REVENUES.

         20             SIMILARLY, MICROSOFT GAVE AWAY ITS BROWSER TO

         21   APPLE -- INSISTED THAT APPLE, IN EFFECT, TAKE IT.  THAT ALSO

         22   IS SOMETHING WHICH CAN'T HAVE PRODUCED ANCILLARY REVENUES

         23   DIRECTLY FOR MICROSOFT.

         24             AMONG THE OTHER REVENUES THAT MICROSOFT HAS

         25   CLAIMED THAT IT WOULD GET ARE REVENUES FROM INCREASING THE
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          1   SALES OF WINDOWS.  BUT THE SALES OF WINDOWS WOULD HAVE

          2   INCREASED WITH ANY BROWSER.  AND, IN ANY EVENT, MICROSOFT

          3   GETS TO CLAIM, IN THIS ANALYSIS, NOT ALL THE ANCILLARY

          4   REVENUES THAT IT GETS FROM THE SALES OF WINDOWS BECAUSE THE

          5   BROWSER WAS GIVEN AWAY FREE, AND NOT ALL THE ANCILLARY

          6   REVENUES THAT IT GETS FROM THE BROWSER ANYWAY.  IT GETS TO

          7   CLAIM, AT MOST, THE AMOUNT OF ANCILLARY REVENUES OF EITHER

          8   TYPE THAT IT GOT BECAUSE OF WHAT IT DID, THAT IT WOULD NOT

          9   HAVE GOTTEN HAD IT PRICED THE BROWSER SEPARATELY.

         10             THERE IS NO REASON TO BELIEVE AND SOME REASON NOT

         11   TO BELIEVE -- CONSIDERABLE REASON NOT TO BELIEVE -- THAT

         12   THAT DIFFERENCE IN ANCILLARY REVENUES CAN'T POSSIBLY LEAD TO

         13   A RECOUPMENT OF THE AMOUNT OF MONEY THAT WAS SPENT ON THE

         14   DEVELOPMENT OF INTERNET EXPLORER.

         15   Q.  LET ME FOLLOW UP ON THE POSSIBLE RATIONALE OF INCREASING

         16   SALES OF WINDOWS.  THERE HAS BEEN REFERENCE TO THE BROWSER

         17   AS BEING A COMPLEMENT TO THE OPERATING SYSTEM.  DO YOU AGREE

         18   WITH THAT?

         19   A.  IN LARGE PART IT IS A COMPLEMENT.

         20   Q.  IF YOU VIEW THE BROWSER AS A COMPLEMENT TO WINDOWS,

         21   WHICH WILL INCREASE THE SALE OF WINDOWS, WOULD THE NETSCAPE

         22   BROWSER ALSO BE A COMPLEMENT TO WINDOWS?

         23   A.  YES, IT IS.

         24   Q.  IF WHAT MICROSOFT WAS INTERESTED IN WAS INCREASING THE

         25   SALES OF WINDOWS, WHAT WOULD THAT LEAD MICROSOFT TO DO WITH
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          1   RESPECT TO EITHER PROMOTING OR RESTRICTING THE NETSCAPE

          2   BROWSER?

          3   A.  MICROSOFT -- I DON'T KNOW THAT MICROSOFT WOULD HAVE AN

          4   INTEREST IN PROMOTING THE NETSCAPE BROWSER, BUT MICROSOFT

          5   WOULD SURELY HAVE NO INTEREST IN RESTRICTING ITS

          6   DISTRIBUTION, SINCE PEOPLE WHO WANTED TO USE THE NETSCAPE

          7   BROWSER WITH WINDOWS WOULD BE HAPPIER PEOPLE WITH WINDOWS.

          8   TO SOME EXTENT, IT WOULD INCREASE THE SALE OF WINDOWS.

          9   Q.  AND FROM YOUR EXAMINATION OF THE EVIDENCE, DID

         10   MICROSOFT, IN FACT, RESTRICT OR ATTEMPT TO RESTRICT THE

         11   DISTRIBUTION OF THE NETSCAPE BROWSER?

         12   A.  OH, YOU BET YOU.  TO TAKE A PARTICULAR EXAMPLE, IN ITS

         13   CONTRACTS WITH ISP'S, MICROSOFT DOESN'T MERELY REQUIRE THAT

         14   THE ISP SHIP SOME MINIMUM NUMBER -- I THINK IT'S USUALLY

         15   AROUND 85 PERCENT -- OF INTERNET EXPLORERS TO THE ISP

         16   SUBSCRIBERS.  THAT REQUIREMENT ALONE WOULD HAVE PERMITTED

         17   THE ISP TO SHIP BOTH IE AND NETSCAPE NAVIGATOR.

         18             THE CONTRACTS, IN FACT, REQUIRE THAT THE ISP NOT

         19   SHIP MORE THAN, IN THIS EXAMPLE, 15 PERCENT OF OTHER

         20   BROWSERS TO THE ISP'S.  THAT'S A RESTRICTION ON NETSCAPE.

         21   IF MICROSOFT WERE REALLY INTERESTED IN SELLING WINDOWS, IT

         22   WOULDN'T HAVE ANY INTEREST IN DOING THAT.  AND IT CAN'T HAVE

         23   ANY INTEREST IN DOING THAT TO PROTECT ITS, QUOTE, SALES OF

         24   IE, END QUOTE, BECAUSE IT DOESN'T HAVE ANY, QUOTE, SALES OF

         25   IE, END QUOTE.  IT'S A NO-REVENUE PRODUCT.
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          1   Q.  NOW, ONE OF THE THINGS THAT YOU ALSO SAID WAS THAT IF

          2   MICROSOFT HAD BEEN INTERESTED IN DISTRIBUTING AND DEVELOPING

          3   A BROWSER IN ORDER TO OBTAIN ANCILLARY OR COMPLEMENTARY

          4   REVENUES, YOU WOULD HAVE EXPECTED TO SEE SOME RECORDS

          5   INDICATING THAT.

          6             LET ME ASK YOU TO LOOK AT SOME TESTIMONY FROM DEAN

          7   SCHMALENSEE WHEN I ASKED HIM ABOUT THE QUESTION OF SUCH

          8   RECORDS.  AND THAT'S AT PAGES 48 AND 49 OF THE JANUARY 20TH,

          9   1999 AFTERNOON SESSION.

         10             AND THE DISCUSSION BEGINS ON PAGES 48 AND PERHAPS

         11   A LITTLE BIT EARLIER, AND I AM ASKING HIM ABOUT WHETHER

         12   THERE ARE ANY RECORDS ABOUT ANCILLARY REVENUES.  AND IN THE

         13   MIDDLE OF PAGE 48, HE SAYS, "I WAS INTERESTED IN THE

         14   QUESTION OF WHAT'S A REASONABLE ASSUMPTION FOR THE SORT OF

         15   ANCILLARY REVENUES, SAY, FROM APPLICATIONS PROGRAMS THAT

         16   MICROSOFT MIGHT EXPECT AS A CONSEQUENCE OF WINDOWS SALES."

         17             AND THEN, DOWN AT THE BOTTOM OF THE PAGE, I SAY,

         18   AFTER TALKING ABOUT WHETHER HE ASKED -- I SAY -- "QUESTION:

         19   AND JUST TO BE CLEAR, YOU WERE TOLD THAT MICROSOFT" --

         20   CONTINUING ON TO PAGE 49 -- "DOESN'T HAVE ANY RECORDS THAT

         21   SHOW HOW PROFITABLE THEIR OPERATING SYSTEM IS, DOESN'T HAVE

         22   ANY RECORDS THAT SHOW WHAT ANCILLARY REVENUES OR PROFITS IT

         23   RECEIVES, AND YOU ACCEPTED THAT ON FACE VALUE, CORRECT?

         24             "ANSWER:  MR. BOIES, THEY RECORD OPERATING SYSTEM

         25   SALES BY HAND ON SHEETS OF PAPER.  UNDER THOSE
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          1   CIRCUMSTANCES, I ACCEPTED THE ABSENCE OF A DETAILED COST

          2   ALLOCATION SYSTEM ABSOLUTELY."

          3             DO YOU AGREE, PROFESSOR FISHER, THAT YOU CAN

          4   ACCEPT THE ABSENCE OF ANY CALCULATION OF ANCILLARY PROFITS

          5   OR ANCILLARY REVENUES AT THE TIME OF DECISION-MAKING AS

          6   BEING CONSISTENT WITH A DECISION THAT THAT'S WHY MICROSOFT

          7   WAS UNDERTAKING SUCH ACTION?

          8   A.  I AM NOT SURE FROM THE WAY YOU PHRASED THAT WHETHER THE

          9   ANSWER IS "YES" OR "NO," BUT LET ME SAY WHAT I THINK.

         10             IF MICROSOFT WAS UNDERTAKING THIS CAMPAIGN TO HAVE

         11   ANCILLARY REVENUES, YOU WOULD EXPECT THEM TO BE ABLE TO

         12   PRODUCE SOME RECORDS THAT SHOW THAT THE ANCILLARY REVENUES

         13   WERE GOING TO BE SUFFICIENT TO JUSTIFY THE COST.

         14             I AM NOT GOING TO COMMENT PARTICULARLY ABOUT THIS

         15   RECORDING OPERATING SYSTEM SALES BY HAND ON SHEETS OF PAPER,

         16   EXCEPT TO SAY THAT I THINK PROFESSOR SCHMALENSEE, WITH HIS

         17   USUAL GOOD NATURE, WAS RATHER CREDULOUS.

         18   Q.  WITH RESPECT TO THE DOCUMENTS OF MICROSOFT THAT YOU HAVE

         19   REVIEWED, DO THOSE DOCUMENTS CONFIRM OR NOT CONFIRM YOUR

         20   CONCLUSION AS TO THE BASIS ON WHICH MICROSOFT UNDERTOOK THE

         21   DEVELOPMENT AND MARKETING OF ITS BROWSER?

         22   A.  THEY CONFIRM IT.  THEY WEREN'T DOING THIS FOR THE

         23   ANCILLARY REVENUES.  THEY WERE DOING IT TO PROTECT THEIR

         24   MONOPOLY POWER.

         25   Q.  AND WHAT LEADS YOU TO THAT CONCLUSION FROM THEIR
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          1   DOCUMENTS?

          2   A.  WELL, MY FAVORITE DOCUMENT, WHICH I KEEP QUOTING AT YOU,

          3   IS THE ONE THAT SAYS, "THIS IS A NO-REVENUE PRODUCT."  IT

          4   GOES ON TO SAY, "BUT YOU SHOULD CARE ABOUT IT JUST AS MUCH

          5   AS DOES BILL GATES."  AND THEN IT GOES ON TO SAY -- I CAN'T

          6   QUOTE IT IN EXACT VERBIAGE -- BUT IT GOES ON TO SAY THAT,

          7   YOU KNOW, WITHOUT BROWSER SHARE, WE LOSE -- AND THEN IT

          8   MAKES MENTION OF BOTH, I THINK, WINDOWS AND OFFICE.

          9             AND THERE ARE VARIOUS OTHER DOCUMENTS TO THE SAME

         10   EFFECT.

         11   Q.  IN A RECENT ANSWER, YOU MENTIONED THAT CERTAIN OLS'S

         12   WERE ALLOWED TO SET THEIR OWN HOME PAGE AND HENCE GET THE

         13   ADVERTISING REVENUE.

         14   A.  YES.

         15   Q.  CAN YOU GIVE ME SOME EXAMPLES OF THOSE OLS'S?

         16   A.  AOL.  YOU ASKED FOR MORE.  I'M NOT SURE.  I'D HAVE TO

         17   LOOK TO SEE MORE, BUT AOL IS THE OBVIOUS ONE THAT COMES TO

         18   MIND.

         19   Q.  WITH RESPECT TO WHAT MICROSOFT SPENT IN TERMS OF

         20   DISTRIBUTING AND PROMOTING ITS BROWSER, DO YOU HAVE TO TAKE

         21   INTO ACCOUNT, FROM AN ECONOMIC STANDPOINT, NOT ONLY THE CASH

         22   THAT IT SPENT, BUT ALSO THE VALUABLE CONCESSIONS THAT IT MAY

         23   HAVE TRADED OR BARTERED AWAY?

         24   A.  YES, YOU DO.

         25   Q.  WHY IS THAT?
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          1   A.  MICROSOFT WAS GIVING UP -- I MENTIONED OPPORTUNITY COSTS

          2   BEFORE.  THIS IS ANOTHER EXAMPLE.  MICROSOFT WAS GIVING UP

          3   THE OPPORTUNITY TO MAKE MONEY.  IT WAS OFFERING PLACES ON

          4   ITS DESKTOP REAL ESTATE THAT WAS VALUABLE TO THE RECIPIENT

          5   AND FOR WHICH MICROSOFT COULD OTHERWISE HAVE CHARGED, AND,

          6   OF COURSE, IT WAS GIVING AWAY -- IT SAYS -- ITS WITNESSES

          7   SAY, YOU KNOW, "IT WASN'T THE DESKTOP; IT WAS THE REALLY,

          8   REALLY, REALLY VALUABLE TECHNOLOGY WE'D SPENT ALL THIS MONEY

          9   IN DEVELOPING."

         10             THEY ARE GIVING THIS AWAY FOR A NO-REVENUE

         11   PRODUCT.  THE RECIPIENT IS, OF COURSE, GETTING SOMETHING OF

         12   CONSIDERABLE VALUE.  THAT'S WHY THEY TAKE IT.

         13             THE COURT:  IS THIS AN APPROPRIATE TIME TO BREAK

         14   FOR THE NOONTIME RECESS?

         15             MR. BOIES:  IT IS, YOUR HONOR.  IT IS, YOUR HONOR.

         16             THE COURT:  ALL RIGHT.  2:00, COUNSEL.

         17             MR. BOIES:  THANK YOU, YOUR HONOR.

         18             (WHEREUPON, AT 12:25 P.M., THE ABOVE-ENTITLED

         19   MATTER WAS RECESSED FOR LUNCH.)
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